Al A

| &€ 2 &
0238 20lat LEBIH L JIBSESIH 1dS ~ =23
2N DHE
M Fol #E PO ER(DHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18s 794,010 768,920 25,090
=0l A Ho| E2(DN4s) 98,176 83,657 14,519
YIS 29 98,176 83,657 14,519
.8y N3 74,880 56,160 18,720
301 EetE NS 74,880 56,160 18,720
o7 8% -0 - H¥Es243 74,880 56,160 18,720
.88+ ¥ 234l 74,880
rol=eE 300,000 x16E~12& 57,600
Lt.&f0iS 300,000& x 162 =23 9,600
Chalo @A+
20,0003 x 16 +22|« 12 7,680
FUNXMEEZ )Y 2 13,296 17,89%6 4,600
201 et 3| 13,296 13,296 0
01 At2t2l] 13,296 13,296 0
(2er=2Hl) 1,296
1.2 AIME 28
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1.=2AXME SAtE 12,000
b AZEUA 25,0002 x8Al 2t 12 2,400
LEOtRuA 25,0003 *8AI2H+ 123 2,400
CHOIEME 25,0003 *BAlI 2t 123 2,400
chEZEHA 25,0003 *BAlI 2t 123 2,400
OHEE R0t 25,0003 *BAl 2t 122 2,400
A= X2 10,000 9,601 399
101 @124H| 7,104 6,705 399
M ORIMZZ2NSE S 7,104 6,706 39
(SEA A 2=2Y) 7,054
1.2 6,350
IR=|
76,9603 /BAI 2+ 1 +55A1 2hx 128 6,350
2ANBNERY 288 704
JLAHEE = 6,350,000 *0.878% 56
L. IES28= 6,350,0002 *1.75% 12
Lh=BdseEe 6,350,000 *4. 5% 286
ct.=2ABEEE
6,350,000 *3.495% 222
O ) QYLER
2220003 %12.27% 28
3. ferAZH Y| 50,0003 x1E*13] 0
201 fer= 3| 2,8% 2,8%
01 At 2|l 2,8% 2,8%
.20 =8 208,000 * 122 2,4%
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2A: DHS
M =0 MY Ho E2(NAS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2 ENFIARO B 4E
200,000 * 10 A:x23] 400
SADIEAIE HBI(DES) 15,000 15,000 0
SAIDIEHAIE EHI 15,000 15,000 0
2E2F AE= ZH| 5,000 5,000 0
401 Al HIZL S 0HYI 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.4E25 AlEES 7A2e
5,000,000 14! 5,000
ZOIZ0I0IA SEOIFAI 10,000 10,000
401 AIEEIZ 2 OHE] 10,000 10,000
01 Al&H| 10,000 10,000
1.5t SH2NHI| X
10,000,000& * 14! 10,000
HY2HAH(DES) 680,834 670,263 10,571
el 2| 602,751 593,4% 9,255
el 2d| 602,751 593,4% 9,255
101 @124H| 580,311 572,256 8,055
01 &2 580,311 572,256 8,095
(=) 425,334
1L.esM0g) 86,978
hsE 83,632,000& 1 83,632
Lt XL IH & 83,632,000 4% 3,346
2. 2:2E(109) 338,356
ot.62(2383) 4,113,600 «2H 122 98,727
Lh.72(853) 2,623,800 «3E~12& 94,457
Ct.82(1088) 2,531,300 «3E«12& 91,127
ct.9=2(2&83) 1,709,600 x2&* 122 41,031
OF. X0 325,342,000 *4% 13,014
(Ho=¢) 37,690
1L.URs2E =€ 3,613
ot528U=R (62 2715 3)
4,303,900 * 184 1%+ 12 2,118
Lh.72t=(82 1723)
3,038,600 x 12 +4 1%+ 12E 1,495
2. 824 338,356,000&*1/12 28,197
3.82==Euts 5,880
Jh.25801 2 130,000 x 1 * 122 1,560
L. 15801 &~20 012t
80,0008 x2& * 122 1,920
Ct.5E0l&~10 012t
50,0002 x4 122 2,400
OBIEd=g) 5,620
1.t5s¢ 5,520




2AM: D4s
M #ReHAH|(DLE)
SERRIEESS(T (Shol: &2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Jb B At 40,0002 *3H 122 1,440
Lt JIEDIE 20,0002 =8« 12& 1,920
Ct.EM XA 60,0003 «3F =123 2,160
(E+222Y) 14,040
1.Ex32YH 14,040
=2 70,0002 =108« 12& 8,400
Lt IR 50,0003 =2« 12& 1,200
CH AR =X 2R
70,0003 x4F 123 3,360
ch AL S XL R=Eotet=a
30,00021+3% 122 1,080
(ZH2242) 45,411
RS
11,1303 +«H4A1 2 10F 123 45,411
(AHIE4 S) 52,316
1. Z3HZAH| 140,000& *11H+12& 18,480
2. BE SOt 338,356,000&*1.2/12 33,836
204 MR AY| 22,440 21,240 1,200
2 MZE2x| 22,440 21,240 1,200
1. 832 x| 22,440
ot.53 250,000 x 15+ 123 3,000
Lt.62 175,000&2H x 122 4,200
Ct.72 165,000& x3H » 12 5,940
ct.8~9= 155,000 x5 123 9,300
Jl2&l 78,083 76,767 1,316
J|=2Z&| 78,083 76,767 1,316
201 Let23H| 37,043 36,787 256
01 At 22|l 16,955 16,939 16
(eet==H|) 10,019
1. 24A2Z | 300,000 *11H +80% 2,640
2.0BIZ SR AIRE
100,000& «12& 1,200
STz =&KX 26,0003 152 A 390
4.02LZHN L=8
86,5003 x58F A 433
5. X2l EH/E™ 200,000 *4CH*43] 3,200
6.HA ElH 150,000& *1CH*43] 600
7.21370|2|= 20,0003 = 1CH* 123 240
8. 5ALE X 20,0003 #2558 A 500
9. 8D X = 30,0003 =122 «2CH 720
10.R8YsE == 8,000& 123 %
(2g9=4) 600
1. 9584 60,0003 *1Z 10! 600
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2A: DHS
M #RSHAH|(DLE)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EEED 6,3%
1.01=gRsd Sa2AY
8,0003x641 118122 6,336
02 S3=gHl 20,088 19,848 240
(SS2SLHA) 18,164
1.28= 3,294
bt 430 +502 * 122 258
Lt. S 2,530 10024+ 123 3,036
2.8z 900,000& * 122 10,800
3.4.0l=R= 100,000« 12& 1,200
LS kel Bt 250,000& %12 250
5. e 2,620
JH NS HA 130,000 *2LH* 12| 260
LE.BAl=8 60,0002 *2CH*13] 120
Ct.Ag2E 2 1,000,000& «2CH*13] 2,000
ch.AgdEsds 10,0002 <20« 122 240
(AIE&HI=XIH]) 1,924
1L.EMEH RX2+ 100,000 *1CH 100
2. =QEOIA A S
33,0003 *2CH*43] 264
3. AZUMAIAE S 2=
30,0002 *1CH =12 360
4. 3MNA= RAES 600,000 600
5. 8y X +=clHl 100,000 »2CH*32] 600
202 04| 27,660 29,100 1,440
01 =LH LI 3,360 4,800 21,440
1.=L0d8I 20,0002 * 10 x2H « 122 x7(% 3,360
02 A0 24,300 24,300 0
12408l 225,000 «9H 123 24,300
203 HF=AH] 9,080 9,080
01 J[2=2EHRFA| 5,940 5,940
1012288 FF4
6,600,000 1 %90% 5,940
02 SRIHAA =TI 440 440 0
13RS R A 40,0002 11 440
M EAEER=A 2,700 2,700 0
1L.ENEZYERFAYI
250,000 * 122 *90% 2,700
204 AR A 1,800 1,800
01 MM SR 1,800 1,800
LARSHRFAY 1,800
h.sE 150,000& x 1= 123 1,800
405 AHAHE S 2,500 0 2,500




2M: 104
.
|

&t JI=Z
2 s IE]
S - BE - B9I(3H) - NRAY - BES il v e
01 XL = FF S| 2,500
Jt. 2l2/EHI0I12 700,000 *1H 700
Lt 2I2/Z2A Xt 180, 000* 107K 1,800




Al A

Al 2 &
0238 20lat LEBIH L JIBSESIH 1dS ~ =23
A 2SS
B ZOIME HOCD(HAE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ads 1,179,624 1,173,025 6,599
=OIA HOER(HAS) 237,776 229,956 7,820
YIS 29 237,776 229,956 7,820
s N&E 191,880 191,880 0
301 EetE NS 191,880 191,880 0
o7 8% -0 - H¥Es243 191,880 191,880 0
.88+ ¥ 234l 191,880
h.SE+E 300,000 x41E~12& 147,600
Lt.&f0iS 300,000 x41H+23] 24,600
Ct.3lol a4y
20,0002 *41H =23 12 19,680
FUAXMEEZ =S 18,096 18,096
201 et 3| 18,096 18,096
01 At2t2l] 18,096 18,096
EEE-T) 1,296
1LFTXME 2|
120,000 * 122 +90% 1,29
(2e=¢) 16,800
Jhotlnsd 25,0003 *BAl 2t 122 2,400
L A=A gt
25,0002 =8Al 2t 12 2,400
ChAZ=EHA g8t
25,0002 +8Al 2t 122 2,400
ch Ze[HHA 25,0003 *BAlI 2t 123 2,400
OF. oA 25,0003 *BAl 2t 122 2,400
bt et=21&s 25,0002 +8Al 2+ 123 2,400
ALt A 25,0002 +8Al 2t 123 2,400
ARl 2tel 19,800 9,980 9,820
201 eer23y| 2,980 2,980 0
01 AtR2t2|HI 2,980 2,980 0
.20 Ui =+=
220,000 * 122 2,640
2 HNFII QT+ 42
170,000& * 174 2:%22] 340
401 Al HIZL 201 16,820 7,000 9.820
01 Al&H| 16,820 7,000 9,820
LEAN SH & =S4 L3 A
9,800,000& %14 9,800
2. 8A 227 0 s X
3,520,000 *14] 3,520
3.AIRA LED ZF WA SAt
2,500,000& *14] 2,500
457 A7z S WA
1,000,0002 %14 1,000
FUHCUH A SEHEAS 8,000 10,000 2,000




A 2SS
B ZOIME HOCD(HAE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 8,000 8,000
01 Al&H| 8,000 8,000
1.5b=7 2AFXE HHD| £X(S HHE At
&) 3,000,000 14| 3,000
2.22E OXelzhe Hil(S 2HE Atd)
1,000,000 504 2 5,000
SADIBAIE HHI(ZHES) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANE=S EHl 5,000 5,000 0
401 AIEHIX SO 5,000 5,000 0
01 AlZH| 5,000 5,000 0
1.4A525 Ald=E 7Al2c
5,000,000 * 14 5,000
HY2HAHI(2LES) 936,848 938,069 A1,221
el 2| 829,780 830,662 A882
el 2a| 829,780 830,662 A882
101 @124H| 797,560 800,362 A2,802
01 &2 797,560 800,362 A2,802
(23) 574,042
1.A8H(18) 86,978
h.s% 83,632,000& 1 83,632
Lt XS IH & 83,632,000 4% 3,346
2. X:2E(15Y) 487,064
t62(2153) 4,002,200 «3H* 122 144,080
Lh72(7s3) 2,518,500 «4F 128 120,888
Ct.82(623) 2,171,300 «6E « 12 156,334
ct.9=2(653) 1,959,500 x2&* 122 47,028
OF. X < IH & 468,330, 000 *4% 18,734
(H0=¢) 49,349
1.832+¢ 487,064,000 1/12 40,589
2.2 +got= 8,760
Jh.25801 2 130,000 x2&* 122 3,120
L. 15801 &~20 012t
80,0008 x2& x 122 1,920
Ch. 1001 &4~151 01 8t
60,0002 x 1 * 122 720
2451101 A~10:0] 8
50,0002 x5~ 12 3,000
OHEd+E) 5,760
1.0tEg 5,760
I BN 40,0002 62~ 123 2,880
LEJIERS 20,0002 x9S« 123 2,160
Ct.EM XS 60,0002 x1& 123 720
(S+22+9) 24,706




A B24S
M sReHAH|(HAE)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1L.Ex82E 24,706
S22 70,0002 x 15« 122 12,600
Lt QIR E 50,0008 38 * 122 1,800
CtALRISXS R
70,0002 +7% 128 5.880
2SI SR Y R4S E
30,0002 6~ 12 2,160
Ob AR EIN SRR+ (8285 )
2,359,800 x 1 +8%+ 122 2,266
(ZU2R+E) 68,116
LAIZRIZ222E
11,1302 #34A12H+ 158« 123 68,116
(AHIZE4 5) 75,587
1.3 NS4 140,000 x16E 122 26,880
2. BEFII 487,064,000&#1.2/12 48,707
204 ARt AH 32,220 30,300 1,920
02 M=a2xH| 32,220 30,300 1,920
1. A= 2XH 32,220
.52 250,000 «1H* 123 3,000
Lt.6= 175,0002x3&* 122 6,300
Ct.75 165,000 x5 * 122 9,900
ct.8-9= 165,000 x7&* 122 13,020
=3l 107,068 107,407 A339
Jl=23H] 107,068 107,407 A339
201 er2 3| 54,398 53,487 an
01 At2teltl 24,465 24,465 0
(er=2Hl) 14,649
1.2A 28 300, 0002 * 162 *80f% 3,840
2.0HI22 NRSE
100,000& «12& 1,200
3.OIHIZRIE &L
200,000 *4CH+33] 2,400
4.T2IE =3 300,000 *23] 600
ZEAMESI B 220,000 20 =23 880
FOSESE2UIRT|
26,0003 *302 A 780
7.0 2SN LSEN
80,0003 * 152t A 1,200
8.215J| el= 20,0002 *301x 122 720
9.2ALEX 20,0003 #5082 A 1,000
10.80| &X2 30,0002 =2CH+ 12 720
N.7dgs U= 16,5003 x 122 198
2.AsS8ESAI W= 77,0002 *5H 385




2N BHS
T WHSAAY|(FLS)
Chel: J1=2 &l EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
1B.UAsAESHI| iEe]
242,000 *34 726
(2E+4) 600
| UamLy 60, 00021124102 600
EEL) 9,216
1.0l=gesssa3AY|
8,000 x6A x 16« 12& 9,216
02 33244l 29,933 29,022 911
(3322 2 XAl 24,017
1.9282 7,757
Jb. Bt 4302 % 15024+ 123 774
Lt. S| 2,530 23024+ 122 6,983
2.80122 1,000,000& =123 12,000
3.40=ER3 90,000 128 1,080
4. 33X BLeE 200,000& *13l 200
5, MASFRIZSoEA 22l
60,000& 122 720
6. HASEURSSHTA HEATHALLE
200,000 27 A 400
RN PER 500, 00024 *1 CH+13] 500
WY HIBALAE
60,0002 x1CH*12] 60
9. 2ZMNERL S (B XE)
80,0002 *1CH* 13 80
10. HE XS HSIHA
30,0002 1CH*12] 30
N.YSESEXINE B2
1,000,000& *1CH*13 1,000
2. XEFESXXE NSIHAl
130,000 *1CH* 12 130
13.AEFESXXNE BB AsE
60,0002 x1CH* 13| 60
(A& ZHISXId]) 5,916
1. 8IS F X 2] 2,000,000& 2,000
2. MASFRESAIE 2|
400,000& 400
3.2QUE0IAAE X2
33,0002 *x3CH*42] 3%
4. K 2RIAAAE RXE4H|
30,000& * 122 360
5. 8EXE SFHI 150,000 *1CH* 123 1,800
UFHA=SXLNE 2SI
30,0003 *1CH* 123 360
7.X& ==l 100,000& *2CH*32! 600
202 o4t 38,700 42,300 A3,600
01 =WOdbI 3,600 7,200 A3,600
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H & 0l & AHS B Ml A

HAHE
Z0l #E Ho| TR (HME)
Y= =2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 788,884 787,832 1,062
Y ol TR (HMMS) 116,144 114,144 2,000
I=AdH =24 116,144 114,144 2,000
.8y N3 84,240 84,240 0
301 EetE NS 84,240 84,240 0
o7 8% -0 - H¥Es243 84,240 84,240 0
1.88+g 4 54 84,240
rol=eE 300,000 x18F12& 64,800
Lt &0 2 300, 00024+ 18 *23] 10,800
Ch.319 & a4
20,0003 x 18 »22|« 12 8,640
FUNXMEEZ )Y 2 15,296 13,296 2,000
201 et 3| 13,296 13,296 0
01 At2t2l] 13,296 13,296 0
(2er=2Hl) 1,296
1LFUNXIME 23]
120,000 * 122 +90% 1,29
(2e=¢) 12,000
1LFEXXME ZA=E 12,000
DALY ==t M=
25,0002 =8Al 2t 12 2,400
Lh.E2=0lud
25,0002 +8Al 2t 122 2,400
Ch.2Jtual 25,0003 *BAlI 2t 123 2,400
ch.SHHA A
25,0002 x8Al 2t 12 2,400
OFotRuA 25,0003 *8AI2H+ 123 2,400
405 AtatE = 2,000 0 2,000
01 ML ESFSHI 2,000 0 2,000
1.23=2=0lud = # 200,000& *10H 2,000
A= X2t 6,608 6,608 0
201 fer= 3| 6,608 6,608
01 At 2|l 6,608 6,608
ettt 2 (2382 28
142,000 x204 2% 123 3,408
BN YT (25182 HLE)
110,000& #2JH 2 #22] 440
3.820 1B UL+ T (2332
230,000 x 1042+ 123 2,760
FUFAHU A SEHOHEAS 10,000 10,000 0
401 AIEHIZ SR OHYI 10,000 10,000
01 Al&HI 10,000 10,000
LgE 22d=+A
5,000,000 x2JH 2 10,000
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2A:

S

Z: SADIEIAIE FHI(BEHS)
SRl ZADIEIAIE FHI (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SADIEAIE HEI(BAHS) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANE= FHl 5,000 5,000 0
401 AIZHIX 20HH 5,000 5,000 0
01 AlZ28| 5,000 5,000 0
1.4=25 AldE |2
5,000,000 *14 5,000
HY2HZHI(BLHS) 667,740 668,688 2948
eIE =g 530,172 588,860 1,312
el =gl 530,172 588,860 1,312
101 @1A4H| 567,732 567,620 12
01 2= 567,732 567,620 12
(22) 400,214
1L.esSM0g) 86,978
h.s& 83,632,000 *1& 83,632
BpSE ) Fal:] 83,632, 0003 *4% 3,346
2. M2E(109) 313,236
te28(1783) 3,738,800 2H 122 89,732
Lh72(858) 2,623,800 «3E«12& 94,457
Ct.82(653) 2,171,300 2F 122 52,112
ct.o=(4ss) 1,802,400 x3&* 122 64,887
O X0 301,188,000 *4% 12,048
(0 =¢) 30,423
1.82+¢ 313,236,000& x1/12 26,103
2. 32+git= 4,320
Jt.1580[a~202 0] 2
80,0008 x2& x 122 1,920
L+.5E 01 &~10E 018t
50,000 x4 * 122 2,400
OBEd=g) 27,840
1.F0t=X+8 1,500,000 x1&* 122 18,000
2.t5E 9,840
/N BN, 40,0002 x5 * 122 2,400
LEDJIEDIS (RIS 28)
20,0002 x12E«12& 2,880
Ct.S M XA 60,0002 x3& 122 2,160
ch.AUROI= Kt
100,000 x2& * 122 2,400
(SE+22E) 14,040
1L.ExR2E 14,040
h.S2F+E 70,0003 102 ~12& 8,400
Lt QIR E 50,0008 x2& * 122 1,200
ChALRISXIS R
70,0003 x4 * 122 3,360
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SN BAHE
M HY2AAU(ELHS)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
I EESEERXISYE
30,0003+ 12& 1,080
(Z22+Y) 45,411
1.AIZERI2R4E
11, 130 «34A 2+ 109 = 128 45,411
(AH24 5) 49,804
1. 2HZAH| 140,0002 x 11123 18,480
2. BE SOt 313,236,000&*1.2/12 31,324
204 MM AH| 22,440 21,240 1,200
2 AZ2E2x| 22,440 21,240 1,200
1. 232 2| 22,440
ot.53 250,000 x1Z = 12& 3,000
Lt.6=2 175,000 x2H 122 4,200
Ct.7= 165,000 x3%H » 123 5,940
ct.8~9= 155,000 *5F 122 9,300
[2Zl 77,568 79,828 A2,260
J|l=23l 77,568 79,828 A2,260
201 Ler23| 39,548 39,548 0
01 AtR2elt] 17,736 17,736 0
(Ler=2dl) 9,720
1. 24A2Z+=EH| 300, 0002 *11«80% 2,640
2.0HIZHRAMRES 100,000& 123 1,200
3.A0IMERIH EH ¥ SH(2ss|2 Z&
) 200,000 *6CH*32] 3,600
4. FRSEST2LSEN
26,0003 #102 A 260
5. 0125 EAL=EX
80,0003 =68 A 480
RUEDI 20,0002 x1CH+6E 120
7.01B0|A (S XA
25,0003 x2Jl| 23] 100
8.MA El 100,000 *2CH*23| 400
9. = AFEX 20,0002 x40 A 800
10.28%gE=MZ(HOIETV=AZ)
10,000& * 12& 120
(gxt2) 1,080
.80 X2 (2sta2 L8
30,0003 «3CH* 123 1,080
(2g9=4) 600
1.2=8aH 60,0002 * 1 * 10 600
(SEYI) 6,336
1. 2R EZZ A
8,000 x6A 11+ 122 6,336
2 SE=29| 21,812 21,812 0
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2A: S
T HHSBY|(FLHS)
Chel: J1=2 &l EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
(832322 2 A 18,088
1.2ERS 2,338
Jb. et 430210021+ 123 516
Lt. S| 2,5302 6021123 1,822
2.8I|R2(23512 28)
1,000,000& *12& 12,000
345l E 3 (2352 ZE)
100,000 122 1,200
4.} EHASLZ (23S ZE
300,000& »23| 600
5. sHEXE 760
b ASAEER 500,000 *1CH*13] 500
Lt KbS XA 100,000 *1CH* 13 100
CHEDIZ M2
60,0002 x1CH* 12| 60
ch. B ZNERE S
100,000 *1CH*13] 100
6. XSS SXIX 1,190
I ASKHEE=Z
1,000,000& *1CH*13 1,000
Lt XtS A 130,000&*1CH*13l 130
CHEDIZ A2
60,0003 *1CH*13l 60
(AEZHISXIHI) 3,724
1. EANASRAES 1,000,000& 1,000
2. 2SN AR X 24
33,000& x2CH *43 264
3. X ZAAMAI AR X 24
30,0003 «1CH* 123 360
4. SHEXE 7FHI
100,000& *1CH+ 122 1,200
5. 3dEXtE +=clbl
00,0002 +2CH33] 600
6.0BH=XIR @A)
25,0003 «1CH* 123 300
202 04d| 26,700 29,100 A2,400
01 =LHO4 b 2,400 4,800 A2,400
1.3LHo ] 20,0002 x 10 x2F 122 x50% 2,400
02 M| 24,300 24,300 0
1.2 A 225,000 x9H 123 24,300
203 PRF=&IY| 9,080 9,080
01 J| 222G RF=A| 5,940 5,940
1.J122Z =8|
6,600, 0002 1 *90% 5,940
02 BRIHAHE R FAH| 440 440 0
1. 8 H S A 40,0003+ 115 440
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of
i’
oF
uJ

-

KIO

Hlw

140
140

MEE
Ofl &k2h

2,700

1,800
1,800

300
300

Ofl &F2H

2,700

2,700

1,800
1,800
1,800
1,800

- ESS

- SRA(E) - HIRAY

S - B

250,0003 * 122 «90%

R0
=t
10

oF

KM

by

A
50

ok
ol
Rl
Rr

KJ
KF
ok
ol

=
Rr

150,000& x 12 =123

-

o

[SHl

Kk
<

F

405 Xt

uir
KR
Ho
O
oK
<J

01 Xt

40,0002 = 11K
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=

o

A HO| T2 (FA2S)
SENdH2SE

Al

CHE - BB - NIRA - BAS e
877,063 826,346
Ho| S2(EA2S) 167,444 138,545
dE =Y 167,444 138,545
gy X 117,000 117,000
301 EetE NS 117,000 117,000
S& -0 - HEEs2a3 117,000 117,000
S¥+E % 34| 117,000
rol=eE 300,000 x25E «12& 90,000
L. &0z 300,000 x25H #2353 15,000
Chalo @A+
20,0002 x25EH*23| 12 12,000
QIXREHEZ DS 2 3,480 3,480
2et2E| 3,480 3,480
01 At2t2l] 3,480 3,480
2e=2H|) 3,480
1.2 AIME 28
100,000 * 122 +90% 1,080
2. FRURXIME A (292U A!)
25,0002 +8Al 2t 128 2,400
Al2te 36,964 9,565
el24d| 7,104 6,705
JRHMZ2E2HEE S 7,104 6.705
1.2+ 6,350
DIR= 1t
76,9602 /BAI 2+ 1H+55A1 2hx 128 6,350
2NENRY 282 704
=S EE= 6,350,000 4. 5% 286
L. =0IA2 2SS 6,350,000 *3.495% 222
Chel@)dEE=
222,000 %12.27% 28
ct.IE28e 6,350,0002 *1.75% 12
OLATHESE = 6,350,000 *0.878% 56
g FSlal 50,0002 x1H =13 50
Lot2 A 2,860 2,860
A22telt] 2,860 2,860
oAbzt ++2
220,0008x 122 2,640
AMHE 2
110,000& *1JH 2:%22] 220
AEHIS I 27,000
AlZHI 27,000
HE OAIE EX 7,000,000 1CH 7,000
SEAL Bt W EH| 20,000,000& » 14 20,000
Holat SEHEAIS 10,000 8,500
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SH: Bars
B 0l WA HO| £ (HAE)
e HE=SXNHEHES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 10,000 8,500 1,500
01 Al&H| 10,000 8,500 1,500
TLAEA AXITH &R 2,000,000 #54 10,000
SADIEAIE HBI(EAR2S) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
2E2F AE= ZH| 5,000 5,000 0
401 AIEHIZ R 0HYI 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4E25 Al2E sA2e
5,000,000 * 14 5,000
YA LU (B AR2S) 704,619 682,801 21,818
el 2E | 625,903 594,307 31,596
el E2g| 625,903 594,307 31,596
101 e124d| 601,603 571,327 30,276
01 2= 601,603 571,327 30,276
(22) 425,304
1.e28H(19) 86,978
s 83,632,000 1 83,632
L. X0 83,632,000 *4% 3,346
2.2ZE(11Y) 338,326
ote=(1988) 3,877,600 «2E 12 93,063
Lt.727ss) 2,518,500 «3H 122 90,666
Ct.82(583) 2,075,500 «4E 123 99,624
ct.9=(883) 1,748,300 =2+ 12 41,960
OF. M IH & 325,313,000 *4% 13,013
(&t0i==d) 33,834
.82+ 338,326,000& %1/ 12 28,194
2.32EoHts 5,640
Jh.25E0]1 & 130,0002 x1&* 122 1,560
Lt.2050[&~25 012
110,000 x1&* 122 1,320
C. 1550l a~20 012
80,0008 x1&x 12 960
ct.5E 0l &~10 012t
50,0002 3 122 1,800
OBIEd=g) 5,040
1.t5+¢ 5,040
I BN, 40,0002 x6&* 122 2,880
LEJIERIS (RIS 28)
20,0002 68 122 1,440
Ct. S MAA 60,000 1 * 122 720
(S+22+9) 15,480
1L.E32sE 15,480
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SH: Bars
M HY2AAH|(EARS)
chol: ol (19 @)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
D = 70,0003+ 115+ 12& 9,240
Lt QIAHRE 50,0002 +3E« 123 1,800
ChAISI=SXg2+Y
70,0003 x4F 123 3,360
ch AlBIEXEREIHZ
30,00021+3% 122 1,080
ESEERE 19,962
REIEC S
11, 1302 +34AI 2t x 11+ 123 49,952
(AHIEA S) 53,993
1. 3%z Al 140,0002 x 12123 20,160
2. 9E SOt 338,326,000&1.2/12 33,833
(R0l +Y) 18,000
1.8505&8 1,500,000& *1Z* 123 18,000
204 AP AH| 24,300 22,980 1,320
02 AZExH] 24,300 22,980 1,320
1. A28=x| 24,300
Jt.5= 250,000& x 14+ 122 3,000
Lt.6= 175,000 x2ZH 123 4,200
Ct.7=2 165,000& 3B+ 122 5,940
ct.8~9=2 155,000 x6H 122 11,160
23| 78,716 88,4A N9, 778
J|1E23&| 78,716 88,4A4 N9, 778
201 Let23| 39,8% 39,574 322
01 ArR22teltl 19,680 19,350 330
(Ler=2Hl) 11,412
1. 24N2Z | 300,000 * 12 80% 2,880
2.0HIZER ARES
100,000& *12& 1,200
3.e13J|12|= 20,0003 #4123 960
4. 40IMEH 200,000 *4CH*33] 2,400
5.d0IMEH 200,000 *83] 1,600
6.FRISESZ=2L3EX
26,0003 172 A 442
7.02AEHNLIES
80,0002 *78f A 560
8.5ALEX 20,0003 #4002t A 800
9.AHOIENVAIERZ 20,0003 = 1201 2 240
0.3ZASS ST 242
330,000& *13l 330
(gxt=2) 756
1.8=D| 30,000 =12 *1CH 360
2.3JNFHEIN(EAH
33,0003 123« 1CH 3%
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SH: Bars
M HZYRAZHI(BA2S)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(2g9+¢) 600
SRR 60,0002 12410 600
(B 6,912
1.ol=esssa3 A
8,000 64 x 128« 12& 6.912
02 S5=g4l 20,216 20,224 A8
(SSQS3LAA) 13,990
.28z 3,810
Jh.get 4302« 1502 128 774
Lt. S 2,5303 %1002+ 12& 3,036
2.801g 600,000& 122 7,200
.otz 40,0002 128 480
4 XL E 100,000& %12 100
b.SHANY 2=
1,000,000 «2CH 12 2,000
6. =YX NHSIHAl
130,000& »2CH*13] 260
7. SEINE Y AT
70,0002 x2CH*13] 140
(A=Hl) 1,072
AR A 1,3403 %4 ¢ 4N 2+*502 1,072
(A EZHISXIH]) 5,154
1LEMNA= 1,000,000& 1,000
2. 2N ED] 100,000 *1CH 100
3.&=7| 50,0002 «3CH 150
4. ZRISQIAI AR R X 24=H]
33,0003 #2CH=43] 264
5. XN2AMAAE ST
30,0002 x 12 360
6. S HzH|
120,000 x2CH* 1200 2 2,880
7. SHIXE =il
100, 000& »2CH 23] 400
202 04t 27,900 31,500 /3,600
01 =LHNHI 3,600 7,200 23,600
.= | 20,0002 102 3 » 12 x50% 3,600
02 A0 24,300 24,300 0
1240 225,000 x9F ~ 128 24,300
203 g4l 9,120 9,120
01 J|2=2gdR=aH] 5,940 5,940
1.0 228320 6,600,000 *90% 5,940
02 SRt =AY 480 480 0
REBIN=EEL L] 40,0002 1224 480
04 A SYYARETY] 2,700 2,700 0
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od
i’
o
uJ

-

KIO

Hlw

MEE
Ofl &k2h

1,800
1,800

Ofl &F2H

2,700

1,800
1,800
1,800
1,800

- HyS

- SRA(E) - HIRAY

S - B

250,0003 122 «90%

R0
=
o

oF

KM

KJ
KF
ok
ol

Rl
Rr

150,000& x1 &= 123

-

o




g 8 A A

RN - I BRA(E) - HRA - BES of v A
= 966,425 945,949 20,476
N ol SR (EAM3S) 195,964 195,565 39
Y2 ME 2 195,964 195,565 3%
.8y N3 140,400 140,400
301 LEtE X 140,400 140,400
o7 % BEESEAS 140,400 140,400
.88+ el 140,400
Jrol1= 300,000 x30E «12& 108,000
Lt &40 300,000 <302 23] 18,000
Ch. 3ol g A 4g
20,0002 *302*23| 12 14,400
FUMXHHEIZ IS 29 35,220 35,220
201 22 d 35,220 35,220
01 At 2 35,220 35,220
(LEt==2H| 1,620
2PN RIEEETE
150,000 * 122 x90% 1,620
(2g+9) 33,600
1LERITAIME 2AT 33,600
ob ABEEHA 25,00021+8AI 2+ 122 2,400
Lt R EHA 25,0003 *8AI2H+ 123 2,400
Ch.otemal 25,0002 *8A| 2H+ 122 2,400
2FJIBHIE 25,0002 +8AI 21 122 2,400
OF. A2t 25,0002 +8A| 21 122 2,400
Bh. 222008t 25,0002 =8Al 2t 12 2,400
A CHE DA 25,0002 +8AI 21122 2,400
Oh.Ctzwal(ngeh)
25,0002 +8Al 2t 122 2,400
T B HE 25,0002 +8A| 21 122 2,400
. eels 25,0002 =8Al 2t 12 2,400
ot 2IH=F2t) 25,0002 *BAI 2+ 122 2,400
EFEAS 25,0002 +8AI 21 122 2,400
I+ 2H0F2H) 25,0002 +8A| 21 122 2,400
St AbZ AL 25,000 x8Al 2t 12 2,400
=P\ EONEE L 10,344 9,945 399
101 @124H| 7,104 6,705 39
VPEVEES =P 7,104 6.705 3%
(SEA B4 o1m) 7,104
182 6,350
3.2
76,9603 /BAI2H+ 12 +55A1 2Hx 12 6,350
2ANANERY 288 704
It &R =3 6,350,000 +0.878% 56
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2H: BMsS
B 0l WA HO| £ (HMIE)
el AHISAHE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
L. IES2E= 6,350,000 *1.75% 12
Ch.=2liAsS28= 6,350,000 *4. 5% 286
ch.2UAHTEEE
6,350,000 *3.495% 222
O L) QALER
222 0002 %12.27% 28
3. 22 A AAE Y|
50,0003 x1H*13] 50
201 ger= 3| 3,240 3,240
01 AtR2te|H] 3,240 3,240
1.ReEd2Ae g sr=
240,000 * 122 2,880
2ENFIIRO 442
180,000& * 174 2:%22] 360
UM A SHEHEAS 10,000 10,000 0
405 KHoHF S| 10,000 3,000 7,000
01 ML ESFSHI 10,000 3,000 7,000
1.2EET| & 0S4l GOV & X
5,000,000 *2JH 2= 10,000
SADIBAIE BHI(BA3S) 5,000 5,000 0
SADIBAIE EHI 5,000 5,000 0
A== ANE=S EHl 5,000 5,000 0
401 AlEHIZ 2018 5,000 5,000 0
01 A&l 5,000 5,000 0
A== ALE SX22
5,000,000& 14] 5,000
Y2 A (EA3S) 765,461 745,384 20,077
el 2| 676,577 650,860 25,717
el 24| 676,577 650,860 25,717
101 @124H| 650,417 626,140 24,277
01 &2 650,417 626,140 24,277
(=) 456,839
1.A4SM(18) 86,978
hsE 83,632,000& 1 83,632
Lt XS IH & 83,632,000 4% 3,346
2. X2 E(129) 369,861
ot.62(1983) 3,877,600 x2H 123 93,063
Lh.72(988) 2,723,900 «3H 122 98,061
Ct.82(653) 2,075,500 ~4H 122 99,624
ch.o=2(458) 1,802,400 x3E « 12 64,887
OF. X S IH & 365,635, 0003 *4% 14,226
(&0i==d) 37,658
LUesFEY
3,162,6002 +4. 1%+ 123 1,556
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2H: BMSS
M HZYRAZHI(BA3S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2.82+4 369,861,000&*1/12 30,822
3.832+=gMt= 5,280
Jt.1580(a~202 0] 2
80,0002 38 * 122 2,880
Lt.5E0(&~1040] 2
50,000 x4 * 122 2,400
OHEd+g) 24,720
1.0tE=g 6,720
I BN, 40,0002 x6&* 122 2,880
L. OIEFIS 20,0002 x10& 128 2,400
Ct. S MAH 60,0002 x2& » 12 1,440
2.20tsX+g 1,500,000+ 18123 18,000
(S+22+9) 17,880
1L.Ex82E 17,880
. S2R+E 70,0002 x12F 122 10,080
Lt 2IAAR 50,0002 x3& 123 1,800
CH A = R4
70,0002 %5 * 122 4,200
ch AR SXI RIS
30,000 x5& * 122 1,800
(ZU22R=F) 54,493
LAIZRIZ2R2E
11,1302 #34AI 2H+ 128 123 54,493
(24 8) 58,827
1. 3As4H| 140,0002 x13E «12& 21,840
2. 9E=IHI 369,861,000& +1.2/12 36,987
204 AR A 26,160 24,720 1,440
02 M=l 26,160 24,720 1,440
1. A= 22 26,160
.55 250,000« 1H* 122 3,000
Lt.65 175,000& x2&~ 123 4,200
Ch.7= 165,000 x3& * 122 5,940
ct.8~95 155,000 x7&* 122 13,020
=38l 88,884 94,524 A\b5,640
JI=23Hl 88,884 94,524 A5,640
201 ger= 3| 45,064 45,064 0
01 At 2|l 18,791 18,791 0
(Et==2Hl) 10,703
1. 2N 28+ 300,0003 x 13 80% 3.120
2.0HIZ2HRAIRES 100,000& « 12& 1,200
JFUSESE=EA
26,0003 258 A 650
AQLSHNLSEX
80,0003 » 122 A 960
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SN HABE
M HAHRAZH|(HABS)
&t Jl=3hl
RA - BH SRS - LAY - BAS ofl &t A
5.dI0IMEU 200,000 *4[H+32] 2,400
6.20INEH 100, 000& »3CH+*22] 600
7.1&5012l2 20,0002 *3H+62 360
8.HAE 90,0003 »2LH*22] 360
9.2AEX 20,0003 *128F A 240
10. 8= X2 30,000 » 122 «2CH 720
OISV E 7, 7003 *10H= 128 93
(2a+¢) 600
1.2=32E 60,0002 x 1~ 10 600
(=&Htl) 7,488
112828 S254|
8,000&+6A*13H « 122 7,488
02 324l 26,273 26,273
(B2323 £ HA) 19,777
1.RE2 4,767
Jt. et 43021002 128 516
LE.SII 2,5303 %1404+ 122 4,251
2. 8123 900,000 122 10,800
3.40t+=ER2= 130,000& x 122 1,560
S ke] B ARSI = 300,000 *12 300
5. SR 960
L ASAEER 800,000& *1CH*12] 800
Lt XS RHA 100,000& *1CH*12] 100
CBIIE M2
60,0002 *1CH*12] 60
6. 2SS 1,390
FASKEER
1,200,000 *1CH*1=2] 1,200
Lt XS XHA 130,000& *1CH*1=2] 130
CBJ I M2 60,000%1CH*12] 60
(AIEZHI=XIH]) 6,49%
LEANASRAZ2H| 2,000,000 2,000
2. A 100, 000& *2CH 200
3. &= 50,0003 »2CH 100
4. dYS S| 100,000 *1CH 100
5.2QIE A A S22
33,0003 +4 3| +3CH 3%
6. NSLUAAIAR X2 ==H|
30,0002 «1CH+ 123 360
7. SHEXY ==l
120,000« 1CH+ 1200 & 1,440
8.SHIXY +cltl
100, 000& »2CH+32 600
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2H: BMSS
M HZYRAZHI(BA3S)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
9.ditg)| FAIEH|
130,000 = 10CH 1,300
202 04dl 32,040 34,200 A2,160
01 2L AL 5,040 7,200 A2,160
130 20,0003 102 3 * 12 *70% 5,040
02 XN 27,000 27,000 0
1.EA0dH 225,0002x10& 128 27,000
203 HR=&H] 9,160 9,160
01 J|2=2gedR=a] 5,940 5,940
10122824
6,600,000 * 1 +90% 5,940
02 3t RS &| 520 520 0
1L IRH RN 40,0002 %13 520
04 PAE2EERFAH 2,700 2,700 0
1.2A2EHBRFALI
250,000 x 122 x90% 2,700
204 ARt AH 1,800 1,800
01 AMHGHR A A 1,800 1,800
[BESEs == Rt Sia] 1,800
s 150,0002x1&+12& 1,800
405 AtatsE = 820 4,300 A3,480
01 TR ESFSHI 820 4,300 A3,480
12134 okt 120,000 *5H 600
2. N2 HHIR 110,000 «2H 220
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Al A

| 2
20235 = 20AF LESIH JIEISEESIH DHS ~ =22
2H: LS
Hm: 0l ME HO| CO(LAS)
el HESIHEH 28 (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
L]s 945,340 1,114,529 A 169,189
F0l WA Ho| EP(LR/s) 197,944 195,145 2,79
HE=SKIHEH 29 197,944 195, 145 2,79
=, 5 N 145,080 145,080 0
301 LEtEX 2 145,080 145,080 0
07 S& - 0| & - BHEEEsSEAZ 145,080 145,080 0
1.884+Y & &=H| 145,080
tol2s< 300,000/ *x31H x12& 111,600
LE. &2 300,000 314 *23| 18,600
Ch.&a=E 20,0002 x31H +x23|x 128 14,880
FOITXAMHEZ ) 2H 32,820 30,420 2,400
201 LEH2AH| 32,820 30,420 2,400
01 AtR2t2lbl 32,820 30,420 2,400
(LBr=29H|) 1,620
1.0 XX A B 2|
150, 000& * 122 *90% 1,620
(294 31,200
1. F0RXIAE 2AE 31,200
Jb.=Stmal
25,0003 x8A| 2Hx 101 A% 122 2,400
LE.Jtemal
25,0002 x8A| 2ZHx 1D A x 122 2,400
Ch.2toleH A
25,0002 *8A| 2Hx 1D A x 128 2,400
ch.RIOtA!
25,0002 *8A| 2H+30 A% 122 7,200
OF.8t=20{nal
25,0002 *8A| 2ZHx 1D A x 122 2,400
bh.& Al
25,0002 *8A| 2Hx 1D A% 128 2,400
A FERXF WA
25,0003 x8A| 2Hx 1D A% 122 2,400
OF.CHOIHEH A
25,0002 *8A| 2ZHx 101 A% 122 2,400
A ot2L| 2t A
25,000 *8A| 2ZHx 1D A x 128 2,400
X ECEO Al
25,0002 x8A| 2tx 101 A% 122 2,400
. Ia=Ewal
25,0002 x8A| ZHx 1D A x 12& 2,400
HAS X2 10,044 9,645 39
101 2124d| 7,104 6,705 39
M JI2HHIZ2ENSEs 7,104 6,705 399
1.S3AI HA 012! 7,054
tolEas
76,960/8A1 2Hx 1 +55 A1 2t 122 6,350
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2H: LS
B 0l HE HO CR(LAE)
&l HF=IHE 29 EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Lt AHEE 6,350,000& *0.878% 56
ChNESE 6,350,000 *1.75% 112
ct. 2R3 EE 6,350,000 *4. 5% 286
O 20HLEE 6,350,000& *3.495% 222
H. S A QYEE 222 0002 *12.27% 28
2. 24Zd 8| 50,0002 *1H*13] 50
201 Ler2 | 2,940 2,940
01 At 22|l 2,940 2,940
1.2 2eltids+2
230,000 * 122 2,760
2 BNEIIABO 442
180,000 =1 2+ 12| 180
FUEHM A SEHE A 10,000 10,000 0
201 L2 | 10,000 0 10,000
03 &At2EH] 10,000 0 10,000
.88 H2s%a M
2,500,000 *43] 10,000
SADIBIAIE FHI(=RE) 5,000 5,000 0
SADIBAIE B 5,000 5,000 0
L2322 AM4E El 5,000 5,000 0
401 AIEHIZL 28I 5,000 5,000 0
01 Al&Hl 5,000 5,000 0
1.425 AMd=E 72
5,000,000 * 14 5,000
HY2IEH(-AS) 742,3% 914,384 A171,988
ol 653,274 825,917 A172,643
oI 2 | 653,274 825,917 A172,643
101 eI H| 627,114 801,197 A174,083
01 2=+ 627,114 801,197 A174,083
(82) 456,614
1.eEM(1Y) 86,978
s 83,632,000& 1 83,632
BSSE] Falsl 83,632,000 x4% 3,346
2.838(12d) 369,636
Jh.62(2053) 3,941, 10022122 94,587
Lh.7=2(728) 2,518,500& +3H~ 123 90,666
Ct.8=(52 =) 2,075,5002 4« 12& 99,624
ct.9=(658) 1,959,500 «3H 128 70,542
Ot XM <IH4 bl 355,419,000 *4% 14,217
(Ao4) 37,643
1.822Y 369,636,000 *1/12 30,803
2. 8323 6,840
Jb. 2530 & 130,000& 1E + 122 1,560
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2H: LS
I BHSEHY|(-HE)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lt.20H0[&~25E 012t
10,0002 *1% 128 1,320
Ch. 1501 &4~201 0] 8t
80,0002 x1&x 122 960
2,510/ A~104 018
50,000 x5& * 122 3,000
OBIEd=g) 1,680
1.0tEE 1,680
I BN, 40,0002 x 12+ 122 480
LEDJIERIS (R 28)
20,000 x2&* 122 480
Ct. S MAH 60,0002 x 1 x 12 720
(S+22+9) 17,880
1L.E282E 17,880
I.s2F2=E 70,0002 x12E 128 10,080
Lt QAR E 50,000 x3&* 122 1,800
ChARRISAIZR4E
70,0002 x5~ 122 4,200
ch Al SXER+EI=
30,0002 x5 122 1,800
(=222 54,493
LAIZRIZ222E
11,1302 #34A12H+ 128123 54,493
(AHIZ2AS) 58,804
1. EHSAH 140,000 x13E ~ 128 21,840
2. BEFJtI 369,636,000& *1.2/12 36,964
204 APt AH| 26,160 24,720 1,440
02 Ma2xH| 26,160 24,720 1,440
1. AE 22 26,160
Jt.5= 250,0003x 1 ~122 3,000
Lt.6= 175,000 x2& * 122 4,200
Ct.7= 165,000& x3& 123 5,940
ct.8-9= 185,000 <7 *12& 13,020
=3l 89,122 88,467 655
Jl=23H] 89,122 88,467 655
201 er23| 45,662 43,307 2,355
01 AtR2t2|HI 19,946 19,946 0
(er=2Hl) 10,274
1.2AN2E Sl 300,000 x 13 80% 3,120
2.0HIZHR2AIRES 100,000« 12& 1,200
3.dl0IMEH 200,000 #3CH+*43] 2,400
4.c0IMES™ 100,000 *3CH*12] 300
5. 2AMESIIEH 50,0002 x2CH*13] 100
6.8.==2&X 26,0003 258} A 650
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SM: LRS
HE: HESAAY(-AE)
=9l Jl=3l (el ®9)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
7. XNZ2IAAAES X 2 24|
30,0002+ 12& 360
202 04dl 30,600 34,200 A3,600
01 =LHOdH] 3,600 7,200 A3,600
1. 2o 20,0002 » 102 x3Z * 122 x50% 3,600
02 EHAL| 27,000 27,000 0
(R=L01:] 225,000& x10H 123 27,000
203 R &I 9,160 9,160
01 J| 222G RFA| 5,940 5,940
1. 0|22 P 2F8H|
6,600, 0002 * 113 +x90% 5,940
02 BRIeHE R FAH| 520 520 0
1. Z R H R FAIH| 40,0003 *13% 520
M EN2HEHRFAY| 2,700 2,700 0
1.2NM2H AR FA|
250,000 * 12 x90% 2,700
204 AR AY| 1,800 1,800
01 MM ZHR+HAL| 1,800 1,800
1AM SHRFAL 1,800
ts& 150,000 x1H* 123 1,800
405 KHHE S| 1,900 1,900
01 XML =EF S| 1,900 1,900
1. LS8 2 380,000 *54 1,900




H & 0l & AL S Al A
2023 204 LB JIEISEESIH D8s ~ =295
SA IS
B 0l WA HO| CR(AXIE)
el HESKEEH 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
AM2AE 1,150,941 1,137,578 13,363
O Y Hol S (AA1S) 179,910 170,700 9,210
HE=SXHH 2 179,910 170,700 9,210
SEHEXIR 128,360 128,360 0
301 LB F 128,360 128,360 0
07 8% - 01% - BHESSEAZ 128,360 128,360 0
1.8&2Y 2 23| 126,360
ot o= 300,000& x27H +12& 97,200
Lt &012 300, 000227 %25 16,200
Chalolas g
20,0003 *27H #2312 12,960
2.9 &+ 25,0003 *40F 23 2,000
FOXNXEEHEZ IH2 S 25,620 25,620 0
201 L2 AY| 25,620 25,620
01 AtR22eltl 25,620 25,620
(eet29d|) 1,620
1LFUTXIME 2|
150, 000 * 123 *90% 1,620
(2g+4) 24,000
1. QXX ME Z A 24,000
JbIIRu A 25,0003 x8A| 2tx 12 2,400
L. gHe|eHA 25,0002 %Al 2+ 122 2,400
Ch.oze 25,0003 x8A| 2t+ 12& 2,400
ct. 2HAZXE 25,0002 x8A| 2H+12& 2,400
1] N M| 25,0002 x8A 2H 12 2,400
Ht. =% wal 25,0002 *x8A| 2+ 122 2,400
Ab.RItmAl 25,0002 +BAI 2+ 128 2,400
Ot MOl & 25,0002 x8A| 2t+ 122 2,400
X 6t2L2tm Al
25,0002 x8A 2H 12 2,400
X ERuA 25,0002 *x8A| 2+ 122 2,400
AR 22| 15,930 6,720 9,210
201 LBt2AY| 6,720 6,720
01 AR2teld| 6,720 6,720
1.2+ = 250,000& 128 3,000
2. 8ANHDotM 2te | =2
130,000& 10 A% 12& 1,560
3.5 HIIFANSB SR
180,000& 10 A% 122 2,160
401 A& B2 20HY| 9,210 9,210
01 Al&HI 9,210 9,210
1.38 U=H3|9d 2|22 SA
9,210,000& * 14| 9,210
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2H: IS
B 0l WA HO| CR(AXIE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
U0 SHEOHSE AL 10,000 10,000 0
401 Al HIZL 201 4,900 10,000 25,100
01 Al&HI 4,900 10,000 /5,100
12D SYSI| SR 2astet ZX1(1HA)
4,900,000& 4,900
405 AtatsE = 5,100 5,100
01 TR ESFSHI 5,100 5,100
1.24¢10] S8SI| ¥Xl 0lsA CCTV €X
5,100,000& 5,100
SADIBAIE BHI(&A1S) 5,000 5,000 0
SADIEHAIE EH 5,000 5,000 0
A== ANE=E EHl 5,000 5,000 0
401 AlEHIZ 201 5,000 5,000 0
01 AlZ2H| 5,000 5,000 0
1.A4=2F AIEE |2
5,000,000 * 14 5,000
Y2 A (A1) 966,031 961,878 4,153
el 2| 860,511 854,118 6,393
el 2d| 860,511 854,118 6,393
101 @124H| 828,411 823,818 4,593
01 &2 828,411 823,818 4,593
(=) 584,49%6
1LesSM0g) 86,978
hsE 83,632,000& 1 83,632
BapSE ) Fal] 83,632,000 4% 3,346
2. X:2E(159) 497,518
ot.62(1853) 3,810,000 x3H 122 137,160
Lt.72(1453) 3,162,600 ~4H 122 151,805
Ch.s=2(628) 2,075,500 x5« 12 124,530
ct.o=(4ss) 1,802,400 x32* 122 64,887
O X0 478,382,000 *4% 19,136
(M =¢) 51,887
1L.UHRSRE*E 1,907
testR(722653)
3,875,300& 4. 1% 123 1,907
2.832+¢ 497,518,000 *1/12 41,460
3.32doHts 8,520
Jh. 25401 & 130,000+ 124+ 122 1,560
Lt. 201101 44~25¢10] 8¢
110,000 x 12 * 12 1,320
L. 1501 &~20 012t
80,0008 x2& x 122 1,920
Ct. 10 01 &~15 012t
60,000 x1&* 122 720
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SN MRS
A #ZYRAZHI(&2A1S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ch.580l4~1040] 2t
50,0002 x5~ 12 3,000
O =S) 23,280
1.0tEg 5,280
I BN 40,0003 x4~ 123 1,920
LE R AHS 20,0002 +3&* 122 720
Ct.S XA 60,0003 x2& * 123 1,440
ct.IIE JtF 20,0002 x5 * 122 1,200
2.20tsXg 1,500,000 x1&~12& 18,000
(S=22+E) 24,000
1.E32sE 24,000
S22 70,0002 x 15 =122 12,600
Lt 2IEHRE 50,0002 *x3& * 12 1,800
ChALRISXS R
70,0002 8 * 122 6,720
ch ARSI RSEI=
30,00021482» 122 2,880
(ZD22+9) 68,116
1Al 204
11,1303 *34A1 2Hx15E « 12 68,116
(24 8) 76,632
1. ZASA4H 140,000 x 16 * 122 26,880
2. 3E=0Hl 497,518,000&%1.2/12 49,752
204 MR AH| 32,100 30,300 1,800
02 a2 x| 32,100 30,300 1,800
1. A= 22| 32,100
.52 250,000& x1H~12& 3,000
Lt.62 175,000 x3&* 122 6,300
Ct.72 165,0002 4~ 122 7,920
ct.8~0= 155,000& x8&~12& 14,880
=3l 105,520 107,760 N2,240
Jl=2&H] 105,520 107,760 A2,240
201 er2 3| 53,840 53,840 0
01 At2tlt] 20,506 20,146 360
(er2%l) 9,610
1. 2N 28+ 300,000 * 162 *80f% 3,840
2.0BIZE2MNEES 100,000 «12& 1,200
J.eoIMERHENH/E
200,000 6 CH*23 2,400
4. FUSESTE2EA
26,0003 #1524 390
5.012SHMLSEN
80,0003+ 102+ A 800
6.2AMESIIEH 100,000 * 1CH 23] 200
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2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
9. s 2=l
150,000 *1CH* 12 1,800
10.8==(SIA) SHHl IH2E=
100,000 %52 500
202 04| 38,700 42,300 A3,600
01 =LHOLI 3,600 7,200 23,600
1.=LH0dHI 20,0003 * 10 x3H « 123 »50% 3,600
02 XN 35,100 35,100 0
124048l 225,000 x13F 122 35,100
203 HR=AH] 9,820 9,820
01 J|2=gge=ay] 5,940 5,940
1012288 RF4|
6,600,000 1 %90% 5,940
02 HRAIMAHA R S| 640 640 0
13RS R A 40,0002 16 640
M EA2HER=AH 3,240 3,240 0
1L.2A28E R4
300,000 * 122 *90% 3,240
204 AR A 1,800 1,800
01 Mg R3] 1,800 1,800
1L AMBA2FAY| 1,800
h.sE 150,000& x 12+ 123 1,800
405 KHakE SH 1,360 1,360
01 Tt =S F = 1,360 1,360
1.21218 X 840,000 1K 840
2.Z0[A 2AXt 52,0002 * 107K 520




Al A

Ml £ 2 &
0238 20lat LEBIH L JIBSESIH 1dS ~ =23
SA AE
M FOIHATOCR(AA2E)
el AE=SANEEHESE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LA 841,674 871,344 AN29,670
ST S I (AHH2E) 140,984 133,880 7,104
YFAHH=S 140,984 133,880 7,104
.8y N3 98,280 98,280 0
301 EetE NS 98,280 98,280 0
o7 8% -0 - H¥Es243 98,280 98,280 0
.88+ ¥ 234l 98,280
rol=eE 300,000 x21E12& 75,600
Lt.&f0iS 300,000 21 +23] 12,600
Ch.2lo&o
20,0002 x212H*23|x 122 10,080
FUNXMEEZ )Y 2 23,220 23,220
201 et 3| 23,220 23,220
01 At2t2l] 23,220 23,220
(2er=2Hl) 1,620
1.2 A B =1
150,000 * 122 x90% 1,620
(2e=¢) 21,600
1LFEXNX A ZA=E 21,600
b AZIHA(EZ)
25,0002 =8Al 2t 12 2,400
LI AZXHA(ES)
25,0002 +8Al 2t 122 2,400
ChAZ=EA(DF)
25,000 *8Al 2t 128 2,400
ch.=s|sna
25,0003 *8AI2H+ 128 2,400
Oh & WA (F24)
25,0002 +8Al 2t 122 2,400
b & W A(0F2)
25,000 *8Al 2t 12 2,400
Ab.2stna 25,0002 x8Al 2t 12 2,400
OF.CIOIHEHA
25,0002 +8Al 2t 122 2,400
Aot 25,0002 +8Al 2t 122 2,400
A= X2t 9,484 2,380 7,104
101 21AH| 7,104 0 7,104
04 JIZtN2Z2 XS E+ 7,104 0 7,104
(SEA A 12d) 7,054
1.8= 6,350
e
76,9602 /BAI 2+ 1H+55A1 2hx 128 6,350
2NENRY 28= 704
b =RHdEE=
6,350,000 *3.495% 222
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M M
M FOIMKEO|ED(AAE)
el AE=SANEEHESE (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
L o) RSA2ES
222 ,00024%12.27% 28
Ch.=0SEER 6,350,000 +4. 5% 286
ct. IEEEE 6,350,000 *1.75% 112
OLAHEE = 6,350,000 +0.878% 56
3. AL Z &I 50,000& *x1& =12 50
201 L= 2,380 2,380
01 AFR2t2ltl 2,380 2,380
1. felBd 2| Hrr=
180,000 «12& 2,160
2. HARIIQBIALLE
110,000& * 174 2:%22] 220
AWM A SEHSEAIY 10,000 10,000
201 LBt 10,000 10,000
01 AtR2telbl 10,000 10,000
1.3 (S HHE AE)
10,000,000 10,000
SADIEAIE BHI(&HA2S) 5,000 5,000 0
SAIDIEHAIE FHI 5,000 5,000 0
222 AEZ2 EH| 5,000 5,000 0
401 Al HIZL 201 5,000 5,000 0
01 Al=H| 5,000 5,000 0
1.4232 AlEES RA2e
5,000,000 14! 5,000
A 2HAHI(AA2S) 695,690 732,464 N3B,774
eIz =2d| 612,786 648,400 A35,614
QI 2| 612,786 648,400 A35,614
101 @124H| 588,486 625,420 N36,934
01 2= 588,486 625,420 N36,934
(22) 429,025
1.A28H(1) 86,978
s 83,632,000& 1 83,632
L. M0 ] 83,632,000 *4% 3,346
2.AZE (1Y) 342,047
te2(1728) 3,738,800& 2&~12& 89,732
Lt.72(1088) 2,819,500 «3F « 12 101,502
Ct.8=2(583) 2,075,500 «3F ~ 122 74,718
et.9=2(383) 1,748,300 x3E ~12& 62,939
OF. M <1 & 328,891,000 x4% 13,156
(&0i==d) 33,784
.32 342,047,000 *1/12 28,504
2. 82xE0ts 5,280
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SN AZios
M A2 | (A2H2E)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Jb. 154801 &~20E 0] 2t
80,0002 +32i* 102 2,880
Lt.501&~101 010
50,0003 x4 122 2,400
OHHEEsY) 5,520
1. 0152 5,520
Jb B At 40,0002 3+ 122 1,440
Lt JIERDES 20,0003 =9« 12& 2,160
Ct.EM XA 60,0003 x1H 123 720
ct AR AHA 100,000& 19+ 12 1,200
(S22 15,840
1. 5§82 15,840
t.s22=Y 70,0003+ 118+ 123 9,240
Lt QIR 50,0003 *3F 123 1,800
ChABI =X g 4g
70,0003 x4« 12& 3,360
chASISE XN LR +Eoteta
30,0003 x4 123 1,440
(=224 S) 49,952
1.A12t2 225
11, 1303 +*34A[ 211G 12 49,952
(AHIEAS) 54,365
1. Z3NZAH| 140,0002 x 12 =123 20,160
2. BE SOt 342,047,000&%1.2/12 34,205
204 AP AH| 24,300 22,980 1,320
02 22X 24,300 22,980 1,320
1. 8= 28Xl 24,300
t.5=2 250,0003x 14«12 3,000
Lt.6= 175,000 x2ZH 123 4,200
Ct.7= 165,000 *3F 122 5,940
ct.8~9= 155,000 x6H 122 11,160
234l 82,904 84,064 A1,160
J|1E23&| 82,904 84,064 A1,160
201 L2 AH| 39,104 38,744 360
01 AtR2telt] 19,942 19,582 360
(eBt4==H|) 10,630
1. 24NA2Z | 300, 0002 * 12 «80% 2,880
2.0l8I2SHAIRE S 100,000& x 12& 1,200
.FRUSES . Z2EX
26,0003 x 155 A 390
401 UBTHLUe=ESE+EX
81,0003 *102t A 810
5.l0IMZBIE EH/EH
200,000& *4CH*43] 3,200

_38_




o
el
&
0

-

nd
KIo
El
D
[N}
(o]
_.I”mrﬁ W
T< @
RIS
I IF ~ mmm%mmm SN
— > B B o mmmmmmem
3l ; S S oow wa” SSEs838 83888
< = = S SR E 8388
S _ - 356
ggg 2 8 ¥ & -
or 2 — of X X * b mV_22m¢ o o o @ ——
o | 2wy @» 8 53 2 50 ok ok ¥y % X @ & ®g3 @
o322 832 21 ¢ ¢ fiig sii o5 s L Sid s 289
: 28 5 . B g 8 8 < ﬂﬂmm m,mm XX 9 A mw,%% R
g | 8°9 K 2 2 3 shss 588 B 86 > ggg ¥ 2B
m_ﬂ [<p BN ep] <o) om_.._ %%5 — m mm W 1m,mw, omc olwm%_
> > S = S >
= , o g 88 3 . g 88
o d & 3 >
. ~ < 2 = =
= 0 S
() 1) = =
o} o0 %0
= 5 W 70
oF LE -
o W~ ~ z I s
. ~ N~ Wo = - = —
ar <l Ko R0 D gk i oo ) 0 OF =
%0 a ol ~ 80 o D) E M = . 7
x. ~ o Ho 0 o oll = = Wo = M_.:_E <k
X - o A TR i _g R Y o
I+ o o o < ~ ﬂHMmoM =
S - R o0
8- =" &

-39 -




S M
M A2 | (A2H2E)
&elr D=3l (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 0idl 27,900 31,500 A3,600
01 =WHO4bI 3,600 7,200 A3,600
1.3 20,0003 * 102 3 = 122 *50% 3,600
02 X0l 24,300 24,300 0
1. EHNYI 225,000 x9Z « 123 24,300
203 AR F&lh| 9,120 9,120
01 J|2A2g A R2F=LIH| 5,940 5,940
102 eg Y|
6,600,000 * 1= *90% 5,940
02 R RFAIL| 480 480 0
1. 830G RF=E| 40,0003 *12H 480
M MBI HRFA| 2,700 2,700 0
1.2A2EE 28|
250,000 * 123 *90% 2,700
204 MM AH| 1,800 1,800
01 MM ZHR+HAL| 1,800 1,800
1. AMSHRFAL] 1,800
s 150,000& 1H x 122 1,800
405 KHHFSH| 4,980 2,900 2,080
01 XML =ZFSHI 4,980 2,900 2,080
1.31212 Xt 840,000+ 14 840
2.31218 oIkt 190,000 1294 2,280
3.0I3HBIR 1,860,000 14 1,860




Al A

| & g &
2023 204 LB JIEISEESIH D8s ~ =295
SA A3E
B 0l WA HO| C2(AXIE)
el HESKEEH 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
&3S 824,457 802,075 22,382
0 N Hol S (AFA3E) 132,280 131,881 39
HE=SXHH 2 132,280 131,831 39
s.5& X 112,320 112,320
301 LB F 112,320 112,320
07 8% - 01% - BHESSEAZ 112,320 112,320
1.8&2Y 2 23| 112,320
ot o= 300,000& x24H x 12& 86,400
Lh 4012 300, 00021242 +25] 14,400
Chalolas g
20,0003 *24H 23|« 12 11,520
ESUN RS YNEE ol 9,960 9,561 39
101 21244l 7,104 6,705 39
MU IIRHNZ2EXsEs 7,104 6,705 39
1.83AF 4 12 7,064
Ftoles
76,9602 /BAI 2Fx1H*B5A| 2tx 128 6,350
Lt.2H22E 6,350,000 *3.495% 222
Ch ol EIQAUEE 222 ,000&*12.27% 28
ct.=321H3 6,350,000& *4. 5% 286
ot.NE2d 6,350,000& *1.75% 112
Ht. ATHEE 6,350,0002 *0.878% 56
2. 242 8| 50,0002 *1H*13] 50
201 LBr2St| 2,856 2,856
01 A2l 2,856 2,856
N T T
213,000& =12 2,556
2ENFIIATO 442
150,000 * 11 2 *23| 300
FUEAHO A SEHHSE ALY 10,000 10,000
201 B2 AY| 10,000 10,000
01 A=R2teld| 10,000 10,000
1.0 HE AFHUXIGEN X
10,000,000 10,000
SADJIEEAIE BB (AHHE3S) 5,000 5,000 0
SADIBAIE EH| 5,000 5,000 0
L2325 AMAE2 Fl 5,000 5,000 0
401 A& B 20HY| 5,000 5,000 0
01 Al&HI 5,000 5,000 0
.43 ANE2 szl
5,000,000 * 14 5,000
HE2HEH|(AAHIS) 687,177 665, 194 21,983
olE2IH| 575,306 581,115 A5,809

_41_




SN AZ3E
HE: M2 (A3
SC R IEE CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ol 23H| 575,306 581,115 A5,809
101 2124 d| 552,866 559,875 A7,009
01 2= 552,866 559,875 A7,009
(82) 404,991
1LHSHOY) 86,978
t.sE 83,632,000&*1H 83,632
Lt. M <IHAH| 83,632,000 4% 3,346
2. X3E(10Y) 318,013
t.62(1853) 3,810,000 x2H +12& 91,440
L. 7298 8) 2,723,900 3B+ 12& 98,061
Ct.e=2(4s8) 1,982,000&«3Z 123 71,352
et.9=2(558) 1,872,000& x2Y 122 44,928
Ot. M <44 8| 305,781,000 4% 12,232
(M0 31,182
1. 832 318,013,000 1/ 12& 26,502
2. 832EoK= 4,680
Jb.208 0] &~25E 0] 2t
110,000 x1H +12& 1,320
Lt. 150l &~20E 0] B
80,0003 x1H 123 960
Ct.5E0A~10= 0] 2t
50,000& x4Z = 12& 2,400
OHHEE ) 6,960
1.0t85Y 6,960
b B Rt 40,0003 «3Z*12& 1,440
LEXAMAHAOIE 28
20,0003 =128 = 12& 2,880
Ct.E=MAt4 60,0003 =2« 12& 1,440
ch A RHA 100,000 x1H* 123 1,200
(E2222Y) 14,040
1. 582 14,040
bt s22=E 70,0003 108+ 12& 8,400
Lt QIAHRE 50,000 =2« 12& 1,200
CH AR =X R+
70,0003 x4H =123 3,360
ch AL SN 2ot
30,0002 x38 +12& 1,080
(X224 45,41
1.A12t2 2R
11,1303 «34A1 2 10F « 123 45,411
(Ahiga 5) 50,282
1. HMS=AH| 140,000& *11Z+12& 18,480
2. 9E SOt 318,013,000&1.2/12 31,802
204 AR AY| 22,440 21,240 1,200
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M MBS
HE: M2 (A3
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
02 M2 x| 22,440 21,240 1,200
[IRS= = | 22,440
t.52 250,000 «1H =123 3,000
Lt.6= 175,000& x2& 123 4,200
Ct.72 165,000 x3H « 122 5,940
ct.8-9= 155,000&x5&« 123 9,300
Jl=3tl 111,871 84,079 27,792
Jl=2&Hl 111,871 84,079 27,792
201 L2 44,291 44,099 192
01 AFR2t2ltl 20,064 20,064 0
(er=2Hl) 12,408
1.2AN2E =2 300,000 * 11 +80% 2,640
2.0 ZHRAIRES 100,000& « 12 1,200
3.0IMEH/EY™ 200,000 *4LH*52] 4,000
4. FUSES - ==22sEX
26,0003 *152f A 390
5.0 45N LIRS HEN
80,0002 *102f A 800
6.21=0|el=2 20,0002 *1JH+ 123 240
7.2180|d3E 150, 000& * 1JH+22] 300
8.HAEL 150, 000& »2LH+62] 1,800
9.=ALZX 20,0002 +402F A 800
10.201Stv==41 =2 (20H) 19,8002« 122 238
(d4xt=z) 720
1L8==JI18 X2 30,0002 <2CH+ 123 720
(2E+¢) 600
1.e=xE 60,0002 x 18 x10! 600
(=&Htl) 6,336
112828 S254H|
8,000&+6AIx11H 122 6,336
02 324l 24,227 24,035 192
(SZS2SLHA) 19,553
.28z 4,463
Jh.get 4303 %1004+ 123 516
LE.SII 2,5303 %1304 122 3,947
2.8J|= 1,000,000 «12& 12,000
3. 80tz 40,0003 * 122 480
S el Eps ENE = 150,000& %12 150
6. AH et 2,460
FASIEER 800,000& #2CH*12] 1,600
Lt XS RHA 130,000 *2CH*12] 260
Ct. Xt=Xt==2ld] 100, 000& »2CH+*32] 600
(el=]) 1,458




SH: 23S
M HZYRAZHI(LAIS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1.2194 1,350& 2 ¢ »6A|2++002 1,458
(A EZHISXIH]) 3,216
1LBAAS 1,500,000 1,500
2. 7%l 792
b AgEET 60,0002~ 1CH* 122 720
LE. &OIXE 6,000& 104123 72
3. LSHI 150,000 1CH 150
4. A 100,000 *1CH 100
5.&=x=I|R A2l 50,0002 «1CH 50
6. = SOIA|ABRSF X 2 ==H]
33,0003 »2CH*43] 264
7. XN2AMA A S XS 2=H]
30,0002 ~12& 360
202 04| 26,700 29,100 2,400
01 =LHOLI 2,400 4,800 2,400
1.=LH0dHI 20,0003 * 10 x2H + 122 »50% 2,400
02 XN 24,300 24,300 0
124048l 225,000 9F 122 24,300
203 HE=H] 9,080 9,080
01 J|2=2gg =AY 5,940 5,940
101228824
6,600, 0002 * 1 *90f% 5,940
02 32 JRHH R 440 440 0
LIRS 40,0003 11 440
M EA2HER=AH 2,700 2,700 0
1L.2A28E R4
250,000 * 122 *90% 2,700
204 AR A 1,800 1,800
01 Mg R3] 1,800 1,800
1LAMSH I 1,800
h.sE 150,000& x 12+ 123 1,800
405 KHaHE SH 30,000 30,000
01 AL =S F=H| 30,000 30,000
1. Sl AIAE 13,000,000 * 14| 13,000
2.A0H ALY 5,000,000& 14 5,000
3.01013 AIAEY 12,000,000 * 14} 12,000




Al A

N & d &
AT 20jaF QLI JIEISHE N DHE ~ 22S
SA: MEHIS
Hp: =0l ME HO| CO(AZ4S)
el HESKEEH 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
A4S 890,046 898,691 8,645
0 N Hol S (AF24E) 185,098 169,598 15,500
HE=SXHH 2 185,098 169,598 15,500
S8t XA 98,280 98,280 0
301 LB F 98,280 98,280 0
07 8% - 01% - BHESSEAZ 98,280 98,280 0
1.8&82e3H] 98,280
tolesg 300,000& x21H 123 75,600
Lh.&012 300,00021%2124%23] 12,600
Ch.8lol&A g
20,0002 x21H +23|* 123 10,080
FOXXHEE T2 29 28,020 28,020
201 B2 AY| 28,020 28,020
01 At 2elt] 28,020 28,020
(LerrgH)) 1,620
1. =0IXHRIME 2|
150, 0002 * 123 *90% 1,620
(2g9=¢) 26,400
1. I REXI A E 2 AL 26,400
b MOl wal 25,0002 x8BA| 2t+ 128 2,400
Lb RIQUEHA 25,0002 *8A| 2t 122 2,400
Chotemal 25,0002 *8A| 2+ 122 2,400
2L2E 02T BR0 DA (DY)
25,0002 #BA| 2H+ 122 2,400
OLZE 02T B0 DA(S2Y)
25,0002 +8A| 2tx 128 2,400
Ht.Rel& 25,0003 +8A[2t+12& 2,400
Ab. 2Dt 25,0002 x8A|2t+ 12& 2,400
R-EIES 25,00021+8AI 24+ 122! 2,400
Ab.zie| et 25,0002 x8BA| 2t+ 128 2,400
Xt 20 25,0002 x8A 2H+ 12 2,400
/=M P 25,0003 +8A[2t+12& 2,400
HAIR K 22l 48,798 33,298 15,500
201 Ypteoy| 5,208 5,20 0
01 A=R2teld| 5,298 5,298 0
1. 2010|224 r2
226,500 =123 2,718
2 BAEI|QHE NS4SR
210,000 *1JH 2%23] 420
3AMEABRNHLSR
180, 00024+ 122 2,160
401 Al&HIZ 20| 43,500 28,000 15,500
01 Al&HI 43,500 28,000 15,500




SN AZS
Hu: Fol WY PO CD(AHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1LEISAME A c|28E SA
43,500,000 * 14 43,500
FUHC A SEHEAS 10,000 10,000
401 AIEHIX R0 10,000 10,000
01 A28l 10,000 10,000
1.4¢10] RHEI| S5 e £X
1,000,000 #54] 5,000
2. ZECtSAtLY HEIR! e £X
1,000,000 *54] 5,000
SADIEIAIE HEI(&2A48) 5,000 5,000 0
SADIBHAIE EH 5,000 5,000 0
223 AE= ZH| 5,000 5,000 0
401 AIEHIZL SR THY] 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1432 AL2 S22
5,000,000 * 14 5,000
HH2IAH|(MA4S) 699,948 724,093 N24,145
el 2| 619,006 640,751 N21,745
el 2d| 619,006 640,751 N21,745
101 21AH| 594,706 617,771 N\23,065
01 2= 594,706 617,771 AN23,065
(22) 434,836
1.9E8M018) 86,978
h.sE 83,632,000& *1H 83,632
BSSE ) Fal:] 83,632, 0003 4% 3,346
2.M8E (1Y) 347,858
ot.628(1653) 3,663,600 x2F 122 87,927
Lh.72(8%8) 2,623,800 «3E 12 94,457
th.e=(783) 2,267,400 ~4H 123 108,836
ct.o=(4s3) 1,802,400 x2&* 122 43,258
R SSESY) Fals] 334,478,000 *4% 13,380
(at0i=d) 33,909
1.82+¢ 347,858,0008*1/12 28,989
2.832gMt=s 4,920
Jt.1580(&~202 0] 2
80,0002 x2& 122 1,920
Lt.5E0(&~104 0] 2
50,0002 x68 122 3,000
OHEd+g) 2,640
1.0tE=g 2,640
I N, 40,0002 x2&* 12 960
LE RTHIHA (DB EEE)
20,000 x4 * 122 960
Ct. S MAS 60,0002 x1& 123 720
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SN AZS
HE: SN2 (A4S
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(S22+9) 18,423
1.E32sE 18,423
.s=22=+4 70,0002 x11& 128 9,240
Lt QIAHR S 50,0002 x2& =122 1,200
Ch AR SIS R4E
70,0002 452 128 4,200
2h ABIEXI YRS
30,0008 x5 * 12 1,800
OF AlIZEA BRI =&
2,064,820 x1H +8%+ 122 1,983
(ZD224E) 49,952
1Al R R4
11,1302 #34A12H+ 118123 49,952
(24 3) 54,946
1. 3= 4H| 140,000 x12&12& 20,160
2. BE=F0I 347,858,000& +1.2/12 34,786
204 APt AH| 24,300 22,980 1,320
02 Mg 22| 24,300 22,980 1,320
1. 522 24,300
.52 250,0003x 1 ~122 3,000
Lt.65 175,000 x2S * 122 4,200
Ct.7= 165,000 x3&* 123 5,940
ct.8-95 155,000 x6& * 12 11,160
=38l 80,942 83,342 A2,400
Jl=23H| 80,942 83,342 A2,400
201 er2 3| 40,622 40,622 0
01 AtR2t2|HI 17,732 17,732 0
(get=24l) 9,500
1. 2N 28+ 300,0003 x 12 80% 2,880
2.0HIZ2HR2ARES 100,000& «12& 1,200
3. EEHEY 200,000 *4CH+33] 2,400
4 ZUEHEY
200,000 *1CH*4 01 =23 1,600
5. ARARAMESIIEH
75,0002 *1CH*23 150
6.0 AMDAESEIE
75,0002 x1CH*23 150
7.2187]212 35,0003+ 1CH* 18]+ 123 420
8.FRSES . 228X
26,0003 102 A 260
9.0 HEENLSESTEN
80,000 *42 A 320
0. 7S+l 10,0003 x 12 120
(dx=) 720
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SN MRS
M HZYRAZHI|(&24S)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1.8 30,000 »2CH =128 720
(2d=d) 600
| UanLy 60, 00021124102 600
EEL) 6.912
1.ol=esssaz Ay
8,000&x641x 128« 123 6,912
2 s5=34l 22,890 22,890 0
(SSQ3%LAAl) 18,166
.28 3,65
Jh.t 4303 * 1202+ 122 620
Lt. S 2,5303 %1004+ 12& 3,036
2. = 950,000 * 122 11,400
.otz 200,000 6 1,200
4. HetxH A2 250,0002 %12 250
5. &I RIS A
130,000 * 1CH*13] 130
6. &8JINEEE= 1,000,000& *1CH*12] 1,000
7. IS NSIHA 30,0002 *1CH* 1=l 30
8. XNEEEE 500,000 *1CH*12] 500
(AEEHISXIH]) 4,724
1LEMNHZ 1,000,000& 1,000
2. MY LS 100,000 2CH 200
3. 2AIEED] 100,000 *2CH 200
4. 20IS0IA| AR | b
33,0003 *2CH*43] 264
5. X2 AMA AR S X2 =1
30,0002 *1CH =12 360
6. SAE 60,0002 *1CH*12] 60
7. A ==cldl 100,000 »2CH*32] 600
8. & X H7 = 150,000 *1CH* 122 1,800
9. &8JIXtEE NI 20,0002 «1CH =122 240
202 04t 29,400 31,800 2,400
01 =LHOHI 2,400 4,800 2,400
.=l 20,0003 ¥ 102 x2S » 123 +50% 2,400
02 A0 27,000 27,000 0
1.2 H0YI 225,000 x10&~ 128 27,000
203 g4l 9,120 9,120
01 J|22gdR=aH] 5,940 5,940
1.0 22820 6,600,000 *90% 5,940
02 SRt =AY 480 480 0
13N R A 40,0002 * 12 480
MU FAZSLIFAI 2,700 2,700 0




od
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

1,800
1,800

Ofl &F2H

2,700

1,800
1,800
1,800
1,800

- ESS

- SRA(E) - HIRAY

S - B

250,0003 122 «90%

0
=t
10

oF

KM

KJ
KF
ok
ol

Rl
Rr

150,000& x1 &= 123

-

o
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g 8 A A

SN =E1S
B 0l WA HO| £ (=)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S8ls 781,0% 798,776 A17,680
=0l A Ho| ER(=818) 110,540 114,436 A3,8%
YIS 29 110,540 114,436 A3,8%6
.8y N3 70,200 70,200 0
301 EetE NS 70,200 70,200 0
o7 8% -0 - H¥Es243 70,200 70,200 0
1. S¥+=EL eS| 70,200
rol=eE 300,000 x15EF «12& 54,000
Lt.&f0iS 300,000& x 152 =23 9,000
Ch.2lo&o
20,0002 x 152 *23| 122 7,200
FOAXME 28 24 10,8% 10,89
201 et 3| 10,8% 10,89%
01 At2t2l] 10,8%6 10,8%
(2er=2Hl) 1,296
1.2 AIME 28
120,000 * 122 +90% 1,29
(2e=¢) 9,600
1LFEXNX A ZA=E 9,600
It MOl el (St=8t)
25,0002 =8Al 2t 12 2,400
L Aol mal (828t
25,0002 +8Al 2t 122 2,400
Ch.&2lAWA 25,0002 +8Al 2t 128 2,400
ch.ot2LIotm A
25,0002 x8Al 2t 12 2,400
ARl 2tel 19,444 23,340 A3,8%
101 @124H| 7,104 0 7,104
M ORINZZE2NSE S 7,104 0 7,104
(S At A 22Y) 7,104
1.2 6,350
=0
76,960/8A1 2tx 1B #5541 2+ 12 6,350
2ANANERY 288 704
JLAHEE = 6,350,000 *0.878% 56
L. IE28= 6,350,0002 *1.75% 12
Ch.=CASEER 6,350,000 4. 5% 286
ct. =oAL EER
6,350,000 *3.495% 222
Oh I QRYTE=
2220002 %12.27% 28
3. A B &I 50,0002 x1H*13] 50
201 et 3| 2,340 2,340
01 At22t2l] 2,340 2,340




SN 2B
B 0l WA HO| £ (=)
Chol: MESTME 2 (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
TR
170,000& * 12 2,040
2EANMI I E U=
150,000 *23] 300
401 Al HIZL R 0HHI 10,000 21,000 211,000
01 Al&HI 10,000 21,000 211,000
LEAN 0 A 2+ SA
10,000,000 * 14| 10,000
UMM SHEHEAS 10,000 10,000 0
405 AHatE = 10,000 0 10,000
01 MMM ESFSHI 10,000 0 10,000
1L.MgD] &1 e 01SA 0TV £X
5,100,000& 14] 5,100
2. HdE 24 JIH EX
4,900,000 * 14 4,900
SADIBAIE BHI(SE1S) 5,000 5,000 0
SADIEHAIE EH 5,000 5,000 0
A== ANE=S FHl 5,000 5,000 0
401 AIEHIX 20HH 5,000 5,000 0
01 AlZ2H| 5,000 5,000 0
1.4=25 AIEE |2
5,000,000 * 14 5,000
HY2HAH(SE1S) 665,556 679,340 13,784
el 2| 580,474 592,218 A1,744
el 2d| 580,474 592,218 A11,744
101 @124H| 568,034 570,978 A12,944
01 &2 558,034 570,978 12,944
(=) 406,925
1LesSM0g) 86,978
h.sE 83,632,000& 1 83,632
BapSE ) Fals] 83,632,000 *4% 3,346
2. M2E(109) 319,947
ot.62(1853) 3,810,000 «2H 122 91,440
Lt.72(10&3) 2,819,500 ~3F 122 101,502
Ch.s2(658) 2,075,500 «2E« 12 49,812
ct.o=(4s3) 1,802,400 x32* 122 64.887
O X0 307,641,000 4% 12,306
(M =¢) 32,783
1.82+¢ 319,947,000&1/12 26,663
2. 32+git=s 6,120
Jh.25301 4 130,000 x1&* 12 1,560
L. 1501 &~20E 012t
80,0002 x2& 122 1,920
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SN =EIS
. HYR2IHH(SESH1S)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
CF. 1001 &~ 151 01 8¢
60,0003 «2H 123 1,440
ct .58 01 &~10=0(8t
50,0003 «2Z 123 1,200
OHHEEsY) 8,400
1. 0152 8,400
Jb B At 40,0002 6122 2,880
LE.JIEDIS 20,0003 x99 =123 2,160
Ch. =T XA 20,0003 x5F =123 1,200
ct.EMAH 60,0003 *3H 123 2,160
(S22 14,040
1. 5§82 14,040
t.s22=Y 70,0003 =108+ 12& 8,400
Lt QIR 50,0003 x2F 123 1,200
ChAISI =X R+
70,0003 x4« 12& 3,360
chASISE XN LR +Eoteta
30,0003 +«3 123 1,080
(Z22+Y) 45,411
1.A12t2 225
11, 1303 *34A[ 2+ 10« 12 45,41
(AHI24 S) 50,475
1. Z3NZAH| 140,000 x11H 123 18,480
2. BE SOt 319,947,000&%1.2/12 31,99%
204 AP AH| 22,440 21,240 1,200
02 22X 22,440 21,240 1,200
1. 8= 28Xl 22,440
t.5=2 250,000 x 15+ 12& 3,000
Lt.6= 175,000 x2ZH 123 4,200
Ct.7= 165,000 *3F 122 5,940
ct.8~9= 155,000& 5H 122 9,300
234l 85,082 87,122 22,040
J|1E23&| 85,082 87,122 22,040
201 L2 AH| 47,202 46,842 360
01 AtR2telt] 18,821 18,461 360
(eBt4==H|) 10,805
1. 24NA2Z | 300, 0002 * 11 +80% 2,640
2.08I 2 RAIRESE 100,000& x 12& 1,200
3.e13J|12|=2 20,0002 x1CH+6E 120
40130143 100,000 *42] 400
5. ZelH&ENH 200,000 *4CH*33] 2,400
6.ZclHEH 200,000& *63| 1,200
7.0ABZHNLSSFEX
80,0003 x68f A 430
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A =81
Mz Y SAHAAH|(2E1S)
& J|124dH|
SA - BB () - NRAY - BAS ofl b A
FETIEE=ET=TIEEYY
26,0002 x 128 A 312
9.BAINESBIIEY 60,0002 *x2[H*33] 360
10.2AIE X 20,000 x508F A 1,000
11.40I22s HAS 7, 700& 128 93
2.8 XsSXH =X 50,0002 x12& 600
(AXt2) 1,080
1. 8|22 30,000 20l = 122 720
2.BIIEEI| Axi2
30,0002 x1CH* 128 360
(24 600
1. =84 60,000 * 12 x 10 600
(=2Hdl) 6,336
1.J|2HR2LME2ZAIH|
8,000& *6AI*11H * 128 6,336
02 B232ZH| 28,381 28,381
(22222HA) 20,249
1.2ER= 3,449
JF. &8t 4302 x802H + 128 413
L. S| 2,530 10024 x12& 3,036
2.80|23 8,460
ot HAE=KIHEH 430,000 x 128 5,160
Lb SAE 275,000& «12& 3,300
3.EADIARSE 200,000& 12 2,400
4.4 (ohH)x=ER3 300,000& 12 3,600
5. 83EFHARS 130,000 %13 130
6. FOIXXIMEHSAI S KHHAIZQUS SH
= 150,000 *13] 150
7. HASFLUSSSIHAEHGEE A
70,0003 x1JH A %13 70
8. MASFOBS3IEAIZ2|H|
30,0002 1D A x 122 360
9. Z4Z XS XS XA 130
Ot SHE XS 30,0002 *1CH*13] 30
Lt =SS X XSF
100,000& *1CH*13 100
10. 2 EXNHESES 1,500
Ot HAE XIS 500,000& *1CH*13] 500
L. S SAIXtE
1,000,000 *1CH*13] 1,000
(H2H|) 4,740
1.AIRAAZH|
1,350& %5 g x5 A| 280 2,700
2. 2AEXSHFF 2] 2,040
Ot SHE XS 130,000& *1CH* 128 1,560
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SN =E1S
M HZYRAZH(SE1S)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lt XSS AXE
40,0002 *1CH* 12 480
(AIE&HI=XIH]) 3,392
1L.BAAZ 2,000,000& 2,000
2.dera| 100,000 «3CH 300
3. ZQUHOIA AKX 2=
33,0002 43 132
4. K2UAANAR S X 2 4=H]
30,0002~ 122 360
5. A& Xtet==Clhl 100,000 »2CH*33] 600
202 04l 26,700 29,100 22,400
01 2LHoIH 2,400 4,800 2,400
1.=U 048I 20,0002 * 10«2 + 122 +50% 2,400
02 A0 24,300 24,300 0
1.2 NI 225,000 «9H 123 24,300
203 =8| 9,080 9,080
01 J122g R4 5,940 5,940
1012288248
6,600,000 * 1 %90% 5,940
02 FRIHAHA =] 440 440 0
13N R A 40,0008 11 440
M A2 LRFEI 2,700 2,700 0
1L.2A28E R4
250,000 * 122 *90f% 2,700
204 MR AH| 1,800 1,800
01 MM SR+ 1,800 1,800
[k == Eaaraial 1,800
h.s& 150,000& x 1= 123 1,800
405 AHaHE = 300 300
01 ML ESF SHI 300 300
LAIRY 2% 300,000 *1CH 300




Al & 0Ol & AFSE Z Ml A
0238 20lat LEBIH L JIBSESIH 1dS ~ =23
SN =82S
M FOIMATO LR (2H2T)
Chol: MESTME 2 (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S§2s 1,093,346 1,069,274 24,072
FUHF O P (SE28) 223,024 236,101 A13,077
YIS 29 223,024 236,101 13,077
I=RESPNRE 177,840 177,840 0
301 EetE NS 177,840 177,840 0
o7 8% -0 - H¥Es243 177,840 177,840 0
.88+ ¥ 234l 177,840
rol=eE 300,000 x38EH «12& 136,800
Lt.&f0iS 300,000& x38 2 *23] 22,800
Chalo @A+
20,0002 382 *23| 12 18,240
FUNXMEEZ )Y 2 25,620 18,096 7,524
201 et 3| 25,620 18,096 7,524
01 At2t2l] 25,620 18,096 7,524
(2er=2Hl) 1,620
1LFUNXIME 23]
150,000 * 122 x90% 1,620
(2e=¢) 24,000
1.=2AXME SAtE 24,000
b AEEHA(E)
25,0002 =8Al 2t 12 2,400
L AZXHA(E)
25,0002 +8Al 2t 122 2,400
ChAE=HA(D)
25,000 *8Al 2t 128 2,400
(S ) e amE=| 25,0002 x8Al 2t 12 2,400
OFJISHIZ 25,0003 *8AI2H+ 123 2,400
Bh.&t=0lna 25,0002 x8AI 2t 122 2,400
ALDEEE 25,0003 *BAlI 2t 123 2,400
or.oloiEs 25,0003 <24 Al 2t 12 7,200
AR 2tel 9,564 30,165 /20,601
101 @124H| 7,104 6,705 399
M ORIMZZ2NSE S 7,104 6,706 399
(SEA A 2=2Y) 7,054
1.8
76,9603 /8AI2H+ 1 +55A1 2+ 1200 & 6,350
2NENRY E8E 704
hAL=EE= 6,350,000 *3.495% 222
L o) QUEE
2220003 %12.27% 28
Ch.=21A= 6,350,000 *4. 5% 286
ch. 1EEE 6,350,000 *1.75% 12
O ATHE S 6,350,000 *0.878% 56
3. AZH &I 50,0002 x1H 13 50
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SN =Els
B ZOIMEHEOCR(2HE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 2,460 2,460
01 AlR2teldl 2,460 2,460
1.208bI0ds2 185,000 123 2,220
2 BNEIINRE B A42
120,000& *1JH 2-#22] 240
FUFAHU A SEHOHEAS 10,000 10,000 0
401 AIEHIZ SR 0HYI 10,000 0 10,000
01 Al&HI 10,000 0 10,000
1.LED Jt2 S &#Xl 10,000,000 * 14! 10,000
SADIBAIEFHI (5828) 5,000 5,000 0
SAIDIEAIE EH 5,000 5,000 0
A=SAEEFH| 5,000 5,000 0
401 Al HIZ S 0HYI 5,000 5,000 0
01 AlZ2H| 5,000 5,000 0
1.4=25 AldE FX2c
5,000,000 *14 5,000
HY2HIHI(BE28) 865,322 828,173 37,149
=] 757,639 726,526 31,113
el =gl 757,639 726,526 31,113
101 @12A4H| 727,519 698,206 29,313
01 2= 727,519 698,206 29,313
(23) 510,566
1L.esSM0g) 86,978
s 83,632,000 1 83,632
BSSE ) Fals] 83,632, 0003 *4% 3,346
2. M2E(149) 423,588
oh.6=(2088) 3,941,000 «2F« 128 94,584
Lh.72(723) 2,518,500 «4E«12& 120,888
Ct.82(653) 2,171,300 «5E « 12 130,278
ct.o=2(228) 1,709,600 x32* 122 61,546
OF. X0 407,296,000 *4% 16,292
(o =¢) 42,259
1.82+¢ 423,588,000 *1/12 35,299
2. 32+git= 6,960
Jt. 158 0] a~202 0] 2
80,0008 x2& x 122 1,920
Lt 1001 &~15=012¢
60,0002 x2& 122 1,440
CH.50l4~1040] 2t
50,0002 6~ 12 3,600
O =Z) 22,800
1.0tEg 22,800
I BN 40,0002 +5E~ 123 2,400
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SN =828
MM HFSAAH|(2H2S)
el QIEE2E ESR=ED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
LEDJIEDIS (R M Z8)
20,0002 *7* 128 1,680
Ch SMXHA 60,0002 * 112 720
2. 80tg Ay 1,500, 0008 1%+ 122 18,000
(S+224Y) 20,760
1SRN 20,760
ohE2esd 70,0002+ 142 * 128 11,760
Lh. 2l eag 50,0002 +3 * 12 1,800
Ch AR =X R4
70,0002 6% * 128 5,040
ch AEI S X YRSt
30,0002 6 * 128 2,160
(ZU224E) 63,575
LARIIZ224g
11, 13021 %3441 2+ 14+ 122 63,575
(HHI24 5) 67,559
IRSELEZE] 14000024 x 15 * 128 25,200
2. ¥EROMI 423,588,000&%1.2/ 12 42,359
204 24 A| 30,120 28,320 1,800
02 AS2EEH| 30,120 28,320 1,800
1LAZE x| 30,120
ot.52 250,0002 12 x 128 3,000
Lt.62 175,00024x22* 128 4,200
Ch72 165,00024x52 * 128 9,900
2803 15,0002 +7 2 * 128 13,020
=2 107,683 101,647 6,036
Jl2&| 107,683 101,647 6,036
201 LeH2 | 48,577 46,337 2,240
01 ArRzelt| 22,131 22,051 80
(2er=2H) 12,891
L 2A2L+8 300, 00021 * 152 +80% 3,600
2.0 ZHRAIRERE 100,0008! * 122 1,200
3.0 ZRIEIEY 150,0002 x93 1,350
4.0 ERIEIER 200,00021%93 1,800
5.0AZHNLSZESEN
80,000 * 1584 A 1,200
6.FUE=SX=EX
26,0002 %308 A 780
o1xd121=e 20,0002 *4l 68 480
LIBJ1821/23 9,0002%33] 288
SAESIIEH
80, 00021 *20H* 18t Ax43] 640
10. 2 ALK 20,0002 *40%t A 800
11840 94Xtz 30,0002 *1CH* 12 360
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SN =E2S
T WP (SHS)
29l Jl=3l (crel ®2l)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
RAUSIIHEES AZEFY ¥ 44|
75,0002 *43] 300
1B.ACIEVAE 7,700« 12 B
(2d=¢) 600
EE RS 60, 00021%124+102 600
EEED 8,640
1.0l=gesssaZAY|
8,0003x641x15& x 122 8,640
02 S3=gHl 26,446 24,286 2,160
(SS2SLHA) 20,074
1.28= 7,104
bt 4303 %2002 x 122 1,032
Lt. S 2,5302x20024 123 6,072
FaPIi= 800,000& * 122 9,600
doteEz 100,000« 12& 1,200
4 BFNERGS(HENE )
70,0002 1CH*23] 140
IS EE= 750,000 *2CH*13] 1,500
I ENE 75,0002 x2CH*13] 150
XS XS KA
130,000 »2CH* 13l 260
8.3t xHAeEE 120,000 %13 120
(A=2Hl) 3,15
AR RS 950 #4 £ +6A| 2H+70L 1,5%6
2. X EH7FH 130,000« 12& 1,560
(A EZBISXIH]) 3,216
1LEMNH=Z 1,500,000 1,500
RUESPNE Sl 100,000 *2LH 3= 600
EQERIAIAR R X244
33,0003 *3CH*43] 3%
4 X2UAA AR X 24=H]
30,000& ~12& 360
5. UASHNEYEZ I |IFAIE |
180,000 *1CH=22] 360
202 04| 36,720 39,600 2,880
01 =LHOHI 4,320 7,200 22,880
1.=LH0dHI 20,0003 » 10 x3H + 12 »60% 4,320
02 XN 32,400 32,400 0
124048l 225,0008 x 128« 12& 32,400
203 HR=AH] 18,810 10,410 8,400
01 V22 HRFA| 7,110 7,110 0
1012288254
7,900, 0002 %1 +90f% 7,110
02 32 JRHH 2= 9,000 600 8,400
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Al

A

| &€ 2 &
0238 20lat LEBIH L JIBSESIH 1dS ~ =23
A HES
Ha: 0l HE HO| CR(HHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Has 1,133,121 1,130,600 2,521
=0l A Ho| E2(HEs) 194,716 213,905 219,189
YIS 29 194,716 213,905 19,189
.8y N 149,760 149,760 0
301 EetE NS 149,760 149,760 0
o7 8% -0 - H¥Es243 149,760 149,760 0
.88+ ¥ 234l 149,760
rol=eE 300,000 x32&E «12& 115,200
Lt &012 300, 0002 x328 %25 19,200
Ch.319 & a4
20,0002 x32EH*23| 12 15,360
FOAXME 28 24 25,620 23,220 2,400
201 et 3| 25,620 23,220 2,400
01 At2t2l] 25,620 23,220 2,400
(2er=2Hl) 1,620
1.2 AIME 28
150,000 * 122 x90% 1,620
(2e=¢) 24,000
1.=2AXME SAtE 24,000
Ot el A (18t
25,0002 =8Al 2t 12 2,400
Lt.etelei A (28t)
25,0002 +8Al 2t 122 2,400
ChHOEse =04
25,000 *8Al 2t 128 2,400
et 2Itm Al (18
25,0003 *8AI2H+ 128 2,400
OF. @It Al (28t)
25,0002 +8Al 2t 122 2,400
bh.St2LIDtn & (=3)
25,0002 +BAI 21+ 122 2,400
A BIRLISI A ()
25,0002 =8Al 2t 12 2,400
O.=sIs 25,0002 +8Al 2t 122 2,400
Atet2ua 25,0003 *BAI 2t 123 2,400
A HEZSKE
25,000 x8Al 2t 12 2,400
ARl 2tel 9,336 30,925 A21,589
101 @124H| 7,104 6,705 399
M ORIMZZ2NSE S 7,104 6,706 399
(SEA A 2=2Y) 7,104
1.804
76,9603 /8AI2H+ 1 +55A1 2+ 1200 2 6,350
282 = 6,350,000 *0.878% 56
3. UEEEE 6,350,000& *1.75% 112
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A HES
Ha: 0l HE HO| CR(HHE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4. =028 2 6,350,000 4. 5% 286
5. =2IAAFE= 6,350,000 *3.495% 222
6.-BIQYEEE
222,000 %12.27% 28
7. HAZZ2RH(HIAIRA) LA T
50,0008 %12 50
201 Ler23| 2,232 2,220 12
01 At2teltl 2,232 2,220 12
1. 2ol 2Rt s+2
161,000& * 122 1,932
2 BMIDIHH 2
150,0003 * 10 223 300
FUFO A SHOE A 10,000 10,000 0
401 Al HIZL 201 10,000 10,000
01 Al&H| 10,000 10,000
1L HZ=XEH LM2E ZX(S S0 A
&) 10,000,000 10,000
SADIEAIE HEI(TES) 5,000 5,000 0
SAIDIEHAIE EHI 5,000 5,000 0
2E2F AE= ZH| 5,000 5,000 0
401 Al HIZL 201 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.4E25 AlEE 7A2c
5,000,000& 14] 5,000
HH2AZHI(UES) 933,405 911,695 21,710
el 2E | 826,331 810,271 16,060
eIgE3| 826,331 810,271 16,060
101 e124d| 794,231 779,971 14,260
01 2= 794,231 779,971 14,260
(=2) 570,913
1.28H(1) 86,978
s 83,632,000& x1H 83,632
B SSESY) Fals] 83,632,000 *4% 3,346
2. M2E(159) 483,935
ote=(2058S) 3,941,100& ~3F 122 141,880
Lh.72(983) 2,723,003 ~4H 123 130,748
Ct.8=2(583) 2,075,500 x6H 122 149,436
ct.os(4s3) 1,802,4002 x2&* 12 43,258
OF. M IH & 465,322,000 *4% 18,613
(&0i==d) 50,408
.82+ 483,935,000 *1/12 40,328
2.32EoHts 10,080
Jh.258014 130,000 x2& * 122 3,120
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SN HES
M HYRIZHI(UES)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Lt 156 0141~2040 2t
80,0002 x2& x 12 1,920
Ct. 1001 &~15012¢
60,0008 x2S * 122 1,440
2,510/ A~104 018
50,0003 6 * 122 3,600
OBIEd=g) 6,240
1.0tEE 6,240
I BN, 40,0002 7+ 122 3,360
L. OIEMIS 20,0003 9 * 122 2,160
Ct. S MAH 60,000 1 * 122 720
(S+22+8) 23,280
1.5+22+8 23,280
l.s22+E 70,0002 x16E 128 13,440
Lt QAR 50,0002 38 » 122 1,800
ChALRISXIS R
70,0002 7 * 12 5,880
ch Al SIS R+EIR=
30,0002 x6E * 122 2,160
(ZU28+E) 68,116
LAIZRIZ222E
11,1302 #x34A12H+ 158« 123 68,116
(AHIZE4 S) 75,274
1.3 NS4 140,000 x16E 122 26,880
2. BEFII 483,935,000&#1.2/12 48,3%4
204 ARt AH 32,100 30,300 1,800
02 M=a2xH| 32,100 30,300 1,800
1. A= 2XH 32,100
.52 250,000 «1H* 123 3,000
Lt.6= 175,0002x3&* 122 6,300
Ct.75 165,000 x4 * 122 7,920
ct.8-9= 165,000 x8& * 12 14,880
=3l 107,074 101,424 5,650
Jl=23H] 107,074 101,424 5,650
201 Ler23| 46,954 46,654 300
01 At2teltl 22,060 21,760 300
(er=2Hl) 11,524
1.24A2E Sl 300,000 16 +80% 3,840
2.0HIZHR2AIRES 100,000« 12& 1,200
3.eoIMEH/EE 200,000& *5LH*22] 2,000
4.ZdZelH EY 200,000 *1CH*43] 800
5. WAE 88,0002 x2CH*43] 704
6.FSES =228
26,0003 202} A 520
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2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oh #ERY 2Ebl
130,000 x1CH* 12 1,560
7. Xt&==clbl 100,000 *2LH 3= 600
8. EAetEA & ol QIASAHIE
200,000 * 13| 200 2 400
202 04l 40,140 42,300 2,160
01 2LHoIH 5,040 7,200 A2,160
1.=U0d8I 20,0003+ 10«3 * 12 *70% 5,040
02 A0 35,100 35,100 0
1.2 NI 225,0003x132~ 122 35,100
203 =4l 9,820 9,820
01 J122g R4 5,940 5,940
1012288248
6,600,000 * 1 %90% 5,940
02 FRIHAHA =TI 640 640 0
I-EBIVSEESS 40,0002+ 1624 640
M A2 LRFEI 3,240 3,240 0
1L.ENEZYERFAYI
300,000 * 122 *90f% 3,240
204 MR AH| 1,800 1,800
01 MM SR 1,800 1,800
[k == Eaaraial 1,800
h.s& 150,000& x 1= 123 1,800
405 AHaHE = 8,360 850 7,510
01 ML ESF SHI 8,360 850 7,510
LAIRES 2k #Y 240,000 = 15H 3,600
2J124EE oA 7Y 600,000 *1H 600
3.219= Hiols +& 800,000 1K 800
4.31218 it 7 86,0002 * 107K 860
5. 2401013 &K 7Y 2,500,000 14 2,500




o o Al

A

SH: AHE
B 0l HE HO CR(ATE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
aHs 758,972 735,801 23,171
=0 N Ho| SR (AHS) 100,264 99,869 3%
YIS 29 100,264 99,869 3%
I=RESPNRE 74,880 74,880
301 EetE NS 74,880 74,880
o7 8% -0 - H¥Es243 74,880 74,880
.88+ ¥ 234l 74,880
rol=eE 300,000 x16E~12& 57,600
Lt.&f0iS 300,000& x 162 =23 9,600
Ch.2lo&o
20,0003 x 16 +22|« 12 7,680
FUNXMEEZ )Y 2 3,480 5,880 2,400
201 et 3| 3,480 5,880 2,400
01 At2t2l] 3,480 5,880 22,400
(2er=2Hl) 1,080
1.2 AIME 28
100,000 * 122 +90% 1,080
(2e=¢) 2,400
1.=2AXME SAtE 2,400
Jhe2ltua 25,000 *BAI2H+6E 1,200
Li.creltHAmAl
25,0003 +BAI2H6E 1,200
ARl 2l 11,904 9,109 2,7%
101 @124H| 7,104 6,706 399
04 JIZtN22 XS 2+ 7,104 6,705 399
(STA 32 02Y 7,104
1.2+ 6,350
IR=1G
76,9602 /BAI2H+1H+E5A] 2hx 128 6,350
2 NENRY 8= 704
LAHEE = 6,350,0002+0.878% 56
LlLOEEEE 6,350,000& *1.75% 12
Ct.=2AsS28= 6,350,000 4. 5% 286
ch. 2L EE=
6,350,000 *3.495% 222
OhL=RIEDIRSEEE
222,000 %12.27% 28
3.eeAdHA 50,0002 x1H =13 50
201 er23| 4,800 2,404 2,3%
01 At2tltl 4,800 2,404 2,3%
.20 g2 ===
265,000 * 122 3,180
2. ot | i e 2
135,000~ 128 1,620
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SH: AHE
B 0l HE HO CR(ATE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
U0 SHEOHSE AL 10,000 10,000 0
405 AHatE = 10,000 0 10,000
01 ML ESF SHI 10,000 0 10,000
12070t £X
10,000,000 * 14 10,000
SADIEAIE EHBI(BES) 5,000 5,000 0
SAIDIBEAIE EH 5,000 5,000 0
A== AES EHl 5,000 5,000 0
401 Al HIZL 201 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.A25 AIE2E |2l
5,000,000& 14 5,000
HY2HZH(FEHS) 653,708 630,932 22,776
elgE3 564,329 562,824 11,505
elIg =3l 564,329 562,824 11,505
101 @124H| 541,889 531,584 10,305
01 &= 541,889 531,584 10,305
(=) 398,048
1.4E8M(18) 86,978
s 83,632,000 * 1 83,632
B SSESY) Fals 83,632,000 *4% 3,346
2. 22E(103) 311,070
ote=(1883) 3,810,000& 2H*12& 91,440
Lh.72(753) 2,518,500 =3~ 128 90,666
Ct.8=(653) 2,171,300 =2F 122 52,112
ct.os(4s3) 1,802,400 x3E 12 64,887
OF. M < IH & 299,105,000 *4% 11,965
(&0i==¢) 30,363
2.832+¢ 311,070,000& *1/12 25,923
3.32doHts 4,440
J+. 1501 &~20H 01 2
80,000& x2&* 122 1,920
Lt 100 &~154 012
60,0002 x1& 122 720
Ct.5E01&~10 012t
50,0002 *x38 * 122 1,800
OBIEd=g) 4,080
1.EsE 4,080
I BN, 40,0003 <2~ 122 960
LEJIEDIS(RMA A Z8)
20,0002 x10E* 122 2,400
Ct. S MAH 60,0002 x 18 * 122 720
(S22+9) 14,400
1.522+8 14,400




SH: AHS
M #EeHA|(ATES)
SERRIEESS(T (Shol: &2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
D = 70,0003 108+ 12& 8,400
Lt QIAHRE 50,0003 =2« 12& 1,200
Ch AR SN2+
70,0003 x4F 123 3,360
ch AL S XY REotet=a
30,0003 x4H 123 1,440
(X224 45,411
REIEC S
11,1303 «34A12H10F « 123 45,411
(AHI24 S) 49,587
1. 2MZ A 140,000& *11Z+12& 18,480
2. 9E SOt 311,070,000&1.2/12 31,107
204 AR AY| 22,440 21,240 1,200
2 MZE2x| 22,440 21,240 1,200
1. 832 x| 22,440
ot.52 250,000 x 15+ 123 3,000
Lt.62 175,000& x2Z 122 4,200
Ct.72 165,000 x3H » 12 5,940
ct.8~9= 155,000 x5 * 123 9,300
234l 89,379 78,108 11,271
J|=2Z&| 89,379 78,108 11,271
201 B2 AY| 51,79 37,428 14,371
01 A=R2teld| 16,902 15,578 1,324
(et=2H|) 8,526
1. 2A2Z 2| 300,000 * 11 +80% 2,640
2.0HIZHRAMRES 100,000& «12& 1,200
.20 ERIHD EH/EE
200,000& *4 {33 2,400
4. 2ANESI| El 150,000 *1CH*32] 450
5. 0S8 S - ==22=8X
26,0003 #1252 A 312
6. 22l ¥ SAEAX
20,00021%208 A 400
7.0AEHNLSZSHEN
86,500 x88f A 692
g.el3J|2l= 20,0003 x2Jl| x6& 240
9.31&4 MEF 2
16,0002 *23| *6IH A~ 192
(2g9=4) 600
1.2=8aH 60,0002 * 1 * 10 600
(SEYI) 6,336
1. 2R EZZ A
8,000 x6A 11+ 122 6,336
(gxt2) 1,440
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SH: AHS
M #ReHAY|(ATES)
s Jl=2ghl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
.80 gx= 30,0002 #4CH =122 1,440
2 s5=34l 34,897 21,850 13,047
(B323 % HAl 29,971
.28 3,401
Jh.t 4303 %1002+ 122 516
Lt.SII 2,530 B * 122 2,885
2. = 1,500,000& * 12& 18,000
3.0l R2= 250,000& * 128 3,000
4.EANNARS 250,000 * 128 3,000
S5.MSAIEHE MUEE=
100,000& *1JH 2=%12] 100
.82 xHirrg 70,0002 14| 70
7. SIS 2,400
HASHES R (BERE)
800,000 *1CH*12] 800
Lh I SIEER (A SESXRE)
1,000,000& *1CH*12] 1,000
Ch 2 REs
100,000 *1CH*22] 200
ch. AkS XAl 100,000 *2CH*13] 200
O &I SA==8
100,000& » 1CH*22] 200
(A=2Hl) 402
AR A 1,340 %3001 402
(AIE&HIRXIH]) 4,524
FMNASRXIH 1,000,000 1,000
2. SYEXHERF|
150,000 x1CH* 12 1,800
3. A =2l
100, 0002 »2CH*32] 600
4 HAEH |22
100,000 *5CH*13] 500
5.2 UHOIA AKX E =]
33,0003 #2CH*43] 264
6. X2 AMA A S X2 ==H]
30,0002 *1CH* 122 360
202 04| 26,700 29,100 A2,400
01 =LHO LI 2,400 4,800 2,400
1.=L0d8I 20,0003 * 10 x2H + 122 +50% 2,400
02 XN 24,300 24,300 0
=Rl 225,000 ~9H 123 24,300
203 HR=4AY] 9,080 9,080
01 J 22 LR FA| 5,940 5,940
1012288254
6,600,000 1 %90% 5,940
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H & 0l & AF S 2 Al A
023 T 20lA LBHEH IIEISEEH DES ~ 22S
2M: LEEOIS
HmM: F0| A MO CQD(REHEOLS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
LEIEOLS 1,576,544 1,571,991 4,553
=0l A Ho| S (REHEO0LS) 325,254 328,173 ~2,919
HY=XME 29 325,254 328,173 A2,919
SEHEXI 262,080 262,080 0
301 YLt X Z 262,080 262,080 0
07 ST - 01% - SHESSEAS 262,080 262,080 0
1.85&84+Y L 54| 262,080
o=y 300,000 x56 % * 12& 201,600
Lh. &2 300,0002 x56 % +23| 33,600
Ch.3lo4g 20,0002 *562 x25| 122 26,880
FOINXMEIER DA 20,820 25,620 24,800
201 Let2 Y| 20,820 25,620 24,800
01 Al22t2IHI 20,820 25,620 4,800
(Let2H|) 1,620
1. FORR ME 22|
150,000 * 122 <90% 1,620
(2949) 19,200
1. Z=QIXEXI M E ARG 19,200
OB MO 25,0002 +8A| 2 128 2,400
Lt Ot mA! 25,0002 x8A 2+ 122 2,400
CHAZXMA 25,0002 <8 A| 2tx 128 2,400
2t.QJtmal 25,0002 +8A| 2% 128 2,400
OhB=20inal(X3)
25,0002 +8A| 2 128 2,400
HE. &t =20 na(E2)
25,0002 *8A| 2+ 122 2,400
Ab @32 Lt A
25,0002 +8A| 2H+ 122 2,400
oLE2na 25,0002 +8A| 2+ 128 2,400
HALR X 22 32,354 31,473 881
101 QIAH| 7,104 6,705 3%
M IRIN2Z2ISES 7,104 6,705 3%
1L.SHA 34 o2 7,104
roea
76,9602 /8AI 2tx 1 x55A1 2+ 128 6,350
Lt AHHE S 6,350,000 0.878% 56
Chn2Ls 6,350,000 *1.75% 112
ot 203 EE2 6,350,000 4. 5% 286
O 2LUAHALES 6,350, 0002 *3.495% 222
HELQIZD|QuBE 2
222,000 %12.27% 28
Ab LBEAAARI 50,0002 %13 50
201 LBt A 9,900 10,168 N268
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FA: PEHX0FS
Ho: Z0l $E BO| ED(DEHEOLS)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 9,900 10,168 N268
.20 g2 ===
200,000 3 -+ 123 7,200
2EANMI I E U=
120,0002 *37H 2+23] 720
.AagEAAC =2
165,000& x 104 2% 123 1,980
401 Al HIZL 201 15,350 14,600 750
01 Al&HI 15,350 14,600 750
1L.R0F2A 1) o228 SA
6,900,000 *14] 6,900
2.20kEA & 1 NSSAM
6,500,000 * 14 6,500
3. @A E= ZA 1,950,000 *14] 1,950
U0 SHEOHSE AL 10,000 9,000 1,000
401 AIZHIYL S HE 10,000 9,000 1,000
01 Al&H| 10,000 9,000 1,000
1.20H24 QHHEXIE AX]
10,000,000 10,000
SADIBAIE HHI(SEHE0ES) 5,000 5,000 0
SAIDIBEAIE EH 5,000 5,000 0
A== AES EHl 5,000 5,000 0
401 Al HIZL 01| 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.AZ25 AIE2E |X2el
5,000,000& 14 5,000
HH 2L IHI(REHE0FS) 1,246,290 1,238,818 7,472
el E3H 1,092,503 1,090,832 1,671
el 24| 1,092,503 1,090,832 1,671
101 @124H| 1,050,623 1,061,472 AB49
01 E= 1,050,623 1,051,472 A\B4Y
(=) 724,438
1.HE8M(18) 86,978
s 83,632,000 * 1 83,632
B SESY Fala ] 83,632,000 4% 3,346
2.2 32E(20Y) 637,460
ot.62(1823) 3,810,000 =32+ 123 137,160
Lh.72(11&s) 2,900,600 7 H*12& 244,407
Ch.e=(4s3) 1,982,000 x7 &+ 122 166,488
ct.os(4s3) 1,802,4002 x3&* 12 64,887
OF. M < IH & 612,942,000 *4% 24,518
(atoi==d) 62,898
.82+ 637,460,0008 *1/12 53,122
2.82gMt=s 7,800
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SN PHEOS
M HAHPALH|(REHE0FS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jt.25:401 4} 130, 0002 *124 128 1,560
L+.201 0] &~2514 0/ Ot
110,000 x1&* 122 1,320
Ct. 1501 &~20= 01 2¢
80,0002 x2& 122 1,920
ct.50(&~104 02
50,0002 x5« 123 3,000
LURsRETE 1,976
ot.68UR(7330E3)
4,015,500 #4. 1%+ 1E 128 1,976
OBIEd=g) 43,200
1&g 7,200
N BN, 40,0002 ~6E+ 122 2,880
L JIERDIS 20,0002+ * 122 2,160
Ct. SMAH 60,000 3 * 122 2,160
2.F0IFA=g 1,500,000 x2& * 122 36,000
(S+22+9) 30,240
1L.E232E 30,240
l.s22+E 70,0002 x20& « 128 16,800
Lt QAR 50,0002 *7& * 122 4,200
ChALRISXIS R
70,0002 8 * 12 6,720
ch Al SXSR+EIR=
30,0008 *7&x 122 2,520
(ZU22+9) 90,821
LAIZRIZ222E
11, 1302 #34A1 2208« 123 90,821
(AHIZE4 S) 99,026
1.3 NS4 140,000 x21H =122 35,280
2. BEFII 637,460,000& 1.2/12 63,746
204 ARt AH 41,880 39,360 2,520
02 M=a2xH| 41,880 39,360 2,520
1. A= 2XH 41,880
.52 250,000 «1H* 123 3,000
Lt.6= 175,0002 3+ 122 6,300
Ct.75 165,000& x8& 123 15,840
ct.8-9= 165,000 x9S * 12 16,740
=3l 153,787 147,986 5,801
Jl=23H] 153,787 147,986 5,801
201 er2&| 76,280 74,156 2,124
01 At2teltl 36,489 34,661 1,828
(fer23l) 21,155
1.2A2E Sl 300,000 21 80% 5,040
2.0HIZHR2AIRES 100,000« 12& 1,200
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SA: REITOIS
Ha: HH2HAY|(LEHZO0HS)
chel: D=2

RA - BH SRS - LAY - BAS ofl &t A
JEBEHEU/EY(HBEAEE)
200,000210CH =43 8,000
4.0130|el= 20,0003 »33! 128 720
FUSESEEEN
26,0002 202 A 520
6.0 LEYHLIEN
86,5003 x202f A 1,730
7.2AMEX 22,0002 1205 A 2,640
8.2AIMSEIIEH 150,000& %52 750
9.2ADIEH(X=0HEA)
150,000& %12 150
10.Fegdssz 7, 7003 %122 93
HREYSLUE(2L)
13,0002 «2JH 2% 123 312
(gxtz) 2,638
.80 30,0002 ~6CH* 12 2,160
2. 3718387 19,9002 «2CH* 123 478
(2e=¢) 600
1.e=xG 60,0003 x1& » 10! 600
(S=l) 12,09%
101282852 54|
8,000& x6AIx21H 122 12,096
02 2324l 39,791 39,495
(822323 2 HA) 33,773
1.288 8,273
Jh.ggt 4303 #2504+ 123 1,290
LS| 2,5303 x230244 128 6,983
NS (B2AEE) 1,500,000& <122 18,000
oot Rs 300,000& +6 1,800
4. BZNERSS(HEXE)
60,000 *1CH*22] 120
5338 AeE
80,0001 2x*13] 80
HENHEE= 600,000& *1CH*12] 600
AT M INEEE
1,000,000 *1CH*1=2l 1,000
8. A XSS RHA 30,000 *1CH*12] 30
9. #HE X (M IR K S XAl
130,000& *1CH*12] 130
0. HIXNEHI B A2
70,0003 »2CH*12] 140
1. 9324 Lpkateld
300,000 122 3,600
(AIE&HI=XIH]) 6,018
LEANASRA2H| 800,000 800
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FA: PEHX0FS
M B2 A (REHFOFS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AyESHYI 50,0002 =2CH 100
AEXE 2= 150,000 *1CH* 122 1,800
4. StEEENXNE HIISH|
50,000 *1CH* 122 600
IR el 100,000 »2CH*33] 600
e S L NEE ]| 50,0002 3 150
7. 2QSOIA ARSI E2=H]
33,0003 *4JH 2-#42] 528
8. AZUAMAIAE = X2 ==H|
30,000 41 * 122 1,440
202 04l 46,200 54,900 28,700
01 2LHoIH 8,400 14,400 26,000
1.=U 048I 20,0003 102 +7& » 12 #50% 8,400
02 A0 37,800 40,500 A2,700
1.2A0HI 225,0003x14~ 122 37,800
203 =8| 11,730 11,730
01 J122g R4 7,110 7,110
112228 7,900,000 *90% 7,110
02 SRItAA =] 840 840 0
13RS R A 40,0002 x21 840
M EA2ER=A 3,780 3,780 0
1L.2A2EE R4
350,000 * 122 *90% 3,780
204 AR AH 1,800 1,800
01 MM SR A| 1,800 1,800
LAMSHRFAY 1,800
h.sE 150,000& x 1= 123 1,800
405 AHaHE S 17,777 5,400 12,377
01 AL =S F = 17,77 5,400 12,377
1.2CI20K 2 HABSHA
3,130,000& *1H 3,130
2.201¥x 2,520,000 *2H 5,040
3. AIIA 1,257,000 x2Jk 2,514
4.2C022LIE 674,000 1H 674
5. 2401013 & 5,460,000 14 5,460
6. SAMSAT 959,000 *1H 959
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g Al A

SN BRS
M FOIHA HOER(HES)
ool MESTME 2 (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HES 1,735,286 1,585,859 149,427
Y HOYSZ(ZREE) 437,866 312,500 125,366
YIS 29 437,866 312,500 125,366
sgE K& 271,440 271,440 0
301 EetE NS 271,440 271,440 0
o7 8% -0 - H¥Es243 271,440 271,440 0
.88+ ¥ 234l 271,440
rol=eE 300,000 x58EH «12& 208,800
Lt.&f0iS 300,000& x58 H *23] 34,800
Chalo @A+
20,0002 x582H*23| 12 27,840
FOAXME 28 24 23,220 25,620 2,400
201 et 3| 23,220 25,620 2,400
01 At2t2l] 23,220 25,620 22,400
(2er=2Hl) 1,620
1.2 AIME 28
150,000 * 122 x90% 1,620
(2e=¢) 21,600
1.=2AXME SAtE 21,600
Jb.etQIeHA 25,0002 x8Al 2t 12 2,400
L+.oF2LI2¢ 25,0003 *8AI2H+ 123 2,400
Ct.=s13 25,0002 +8Al 2t 123 2,400
ct.E==0! 25,0003 *BAlI 2t 123 2,400
OLoIRuA 25,0003 *BAl 2t 122 2,400
Bt et=0{wa 25,0002 *8Al 2+ 123 2,400
Ab.23te| LA
25,0002 +8Al 2t 123 2,400
OF. 2421 T2t (A)
25,0002 x8Al 2t 12 2,400
Kb el el (B)
25,0002 =8Al 2t 12 2,400
ARl 2tel 29,440 10,440 19,000
201 Ler23| 29,440 10,440 19,000
01 At2teltl 29,440 10,440 19,000
.22
180,000 #301 A 123 6,480
2 EMNID M 2
110,000 x30H =% 123 3,960
3. A0 &I 12,000,000& *13] 12,000
4. ZAOIE HII=XelY
5,000,000& 12 5,000
5. MOIMMTE A2FHI
2,000,000& 2,000
FUFAHU A SEOHEAS 8,000 5,000 3,000
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SN BRS
B ZOIME HOCD(BEE)
el HESKEEH 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 8,000 5,000 3,000
01 Al&H| 8,000 5,000 3,000
1LAZESEXEE HAIE WX
5,000,000& *14] 5,000
2.35E42 STUHOEAS Al
3,000,000 *14] 3,000
SSEX MF 105,766 105,766
201 2= 3,900 3,900
01 At22telt] 900 900
1LEAOIA 82 S0 & oY ZAE
900,000 900
03 A= SHI 3,000 0 3,000
L2222 &F s A
3,000,000 3,000
401 AIEHIZL 2 THYI 53,760 53,760
01 AlZ8| 53,760 53,760
1.24208 & SE 7,400,000 7,400
2. A2 3,750,000& *24] 7,500
ENE, #8C, AuaT
1,950,000 *34 5,850
4. C2HXE 7,000,000 7,000
CHHEE 187,000& »104] 1,870
A2 AE(TX) L HE
1,740,000 1,740
730 W EA A= £X
400,000 *204] 8,000
8.EAL Wl EScIEZX
300,000 2004 A 6,000
9.2EB2ANAY L PUALIAAL O1F &
Xl 700,000& 23] 1,400
10.SE2E =BIUIIAAY &X]
4,000,000 *14] 4,000
11.g0ld J30 €% 1,500,000 #24] 3,000
405 AHAHE S 48,106 48,106
01 It =S F = 48,106 48,106
(AFRAIH) 21,166
124 9 NE S 6,560
LAY (EEE) 500,000+ 1H 500
Lt By (M2 E) 320,000 *50H 1,600
Ct.2at=el 100,000 «6H 600
ch. A 280,000 *5H 1,400
O ZIE 24t 350,000 *2H 700
Bt IR HE =R 390,000 x2H 780
ABAIEIE S 253
200,000 *5H 1,000
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A HAES
B ZOIME HOCD(BEE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2B & =H 7,090
Jh.6E I 410,000 * 127K 4,920
L+.3E FHEIR 200,000 *6H 1,200
Ct.0IS&E=HEIR 450,000 1K 450
ch.2& 260,000 *2H 520
3.elga I 5,136
ObBlEA HPHMD B
400,000 1K 400
LE.QIRQIE 2k} 162,000 «8H 1,216
Ch.BIRTIIS ALt 1,010,000 «2H 2,020
ch IR MAICH(ZZN)
1,500,000 *1H 1,500
488 € &€& =2 2,360
S8 { 4EE HI0IS
580,000 1K 580
Lh.adg=s oL 100,000 * 1074 1,000
ChSXA ¥ D 22 TEM
260,000 *3H 780
(3od g 28 JH+) 26,400
121214 ot 16,800
b 2at 500,000 1K 500
Lt.212l&E &HO0IA HIOIE
360, 0003 x20H 7,200
Ch.al2laE EolA 2kt
100,000 *60H 6,000
ch.3l2dE A2t 1,000,000 <2 2,000
03198 SH0IEEE(0ISA 2E
550,000 *2K 1,100
2.4319d d UI=SHE 9,600
Jh e & HIOIE 360,00021*10H 3,600
Lt 2l Xt 100,000 +60H 6,000
(MXHHS 540
1L ASHEAD 540,000 14 540
SADIEAIE HEI(ZE2S) 5,000 5,000 0
SADIBAIE EHI 5,000 5,000 0
A== ANES EHl 5,000 5,000 0
401 Al HIZL 01| 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.4525 Ald=S 7Al2c
5,000,000& *14] 5,000
HY2HAH (2=2S) 1,292,420 1,268,359 24,061
el 2| 1,141,538 1,110,026 31,512
el 24| 1,141,538 1,110,026 31,512
101 @124H| 1,097,918 1,068,806 29,112




SN BES
M HYRIZH(ZES)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 &= 1,097,918 1,068,806 29,112
(=) 781,708
1.H4E8M018) 86,978
h.sE 83,632,000& 1 83,632
BaySE ) Fal] 83,632,000 4% 3,346
2. 2ZE(219) 694,730
ot.62(2023) 3,941,000 ~4H* 122 189,168
Lt.72(10&3) 2,819,500 x6H 122 203,004
Ct.8=2(653) 2,171,300 «8& 128 208,445
ct.o9=2(658) 1,872,000 x3E~12& 67,392
OF. XM H&H| 668,009, 000& *4% 26,721
(&0i==d) 69,055
.82+ 694,730,000+ 1/ 122 57,89%
2. 82=8Mut= 11,160
Jh.25801 2 130,000 x2&« 123 3,120
Lt.20H0(&~25E 012t
10,0002 «1&+12& 1,320
Ct. 1501 &~20H 01 2¢
80,0008 x2& 122 1,920
ct. 10 0[&~15E 012
60,0002 x68 122 3,600
OF.501a~104 012t
50,0008 x2& * 122 1,200
OHEd=+€) 12,480
1.0t5=¢ 12,480
I BN 40,0002 x10E12& 4,800
LEJIEDIES(RMAE Z8)
20,0002 x17H* 122 4,080
Ct.ES M 60,000 x5 128 3,600
(S+=28+E) 32,880
1.5=225E 32,880
S22 70,0003 x21H* 122 17,640
Lt QIEHRE 50,0002 x6& =122 3,600
Ch AR SXER+E
70,0002 x10F« 122 8,400
ch AR SRS
30,0002+~ 122 3,240
(ZU222E S) 95,362
LAIRRIZ2RSE
11,1302 #34A| 2218« 123 95,362
(AHIZAS) 106,433
1. ZAS A4 140,000 «22 « 122 36,960
2. BEFJHI 694,730,000+1.2/ 12& 69,473
204 MR AH| 43,620 41,220 2,400
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SN BES
M HYRIZH(ZES)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 Ma2xH] 43,620 41,220 2,400
1. 2SS 22 43,620
Jt.5= 250,0003x 1 ~12& 3,000
Lt.6= 175,0002 x4+ 122 8,400
Ct.7= 165,000& x5~ 123 9,900
ct.8~9= 165,000 x 12 122 22,320
=3l 150,882 168,333 AT,451
Jl=23H] 150,882 168,333 AT,451
201 et23| 85,158 82,758 2,400
01 AtR2telHl 38,592 38,592 0
(get=24l) 22,200
1.2AN2E S 300,000 x22 +80% 5,280
2.0HIZHR2ARES
100,000 104 A+ 122 1,200
3.08H El/Ed™ 200,000 +7CH+63] 8,400
40157 2= 15,0003 x3 =123 540
5.e157| d3Ed 120,000 *3I1x23] 720
6.FUSESE==2EX
26,0003 202 A 520
7.BS5ELSEN 80,0003 152 A 1,200
8. = ALEX 20,0003 902 A 1,800
9.2AMESED EYH 80,0002 x3CH+*32] 720
10.= AP EU 120,000 * 1CH*63] 720
N HESSAUAAE =R 2=
75,0002 #4353 300
2.8 EX 100,000 +82] 800
(dx=z) 3,120
1LEAS +llS7L30 SRS
300,000& 22 600
2. 80| X= 30,0003 #4CH* 12 1,440
3.SIIEEI gxt 30,0008 «3CH* 12 1,080
(2d=< 600
1L.e=x+d 60,0002+ 110! 600
(=&Htl) 12,672
1128 fs8sS2sA
8,0003x641 22« 122 12,672
02 S3=gHl 46,566 44,166 2,400
(SS2SLHA) 37,584
1.2ER223 17,244
bt 4303 #4002+ 122 2,064
Lt SII 2,530 50024 123 15,180
2.T12=(2428)
1,000,000~ 128 12,000
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of
i’
oF
uJ

-

KIO

Hlw

NT,200
NT,200

MEE
Ofl &k2h

57,600
14,400

43,200

1,770
7,110
880
3,780

1,800

Ofl &F2H

2,400

1,940
1,500

130
200
110
320
3,600
1,200
1,200
7,782

850
200
300
360

2,400

600
600
600
R
1,080
50,400
7,200
7,200

43,200
43,200

1,770
7,110
7,110

880
880
3,780

3,780

1,800

- HyS

- SRA(E) - HIRAY

S - B

3

200,000& =128
80,000 1

a

<
K0
50

o

|«2CH

=l

[*2CH
|*2CH
5

3

3

3

65,0003 *2
100,000 *1

320,000 *1
300,000& =128

750,000 1
55,0003 1

S|l

=l

FAl

Ct. Xts
7. 354 ety

6. NETHESH

Ok
ulo
<
oF

1A
(AIE&HI=XIdl)

100, 0003 *3CH

3

200,000 & 62
850,000&

200,000& +1

30,0002« 122

200,000 1CH* 122

4

S
o=

1.EA
3.2 A

4
Ko
KJ

a

=
RO
X
10

1o

©

100,000 +6CH

2

3

50,0003 »1CH= 128

100,000 +2CH+3

33,0002 *6LH+*4
30,000 »3CH =122
20,0003 * 10«6 « 122 +50%
225,000 x16F 122

22/

I |X

3

7. SEIXE =2l
1.2

02 A0
1.2 NI

01 =LA LI

202 044l

K]
KF
oF
oD

7,900, 000% 1= %90%
40,0003 x22H

KJ
K-

ol
30
U
x

I+

350,000 * 122 «90%

0
=t
10

oF

Rr




od
i’
o
uJ

-

KIO

Hlw

A2,651

A2,651

MEE
Ofl &k2h

1,800

4,405

4,405

Ofl &F2H

1,800
1,800
1,800
1,754
1,754

360
594
800

- HyS

- SRA(E) - HIRAY

S - B

R0
0

ok
ol

Rl
Rr

Kl
KF
oF
ol

Rl
Rr

.

1o

150,000 x1&* 122

{=Hl

KR
<J

F

405 Xt

D
ur
Ho
O

01 XhaHd

360,000 *1CH

)
)

4
[
io
0

2. ZHZEE(

594,000 *1CH

400,000& *2CH

L

__om
I
N
It

HMAI(

U]

3.8
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Al A

| & 2 &
20235 & 206 LRSI JIEISEEIN DHS ~ 22
SA: HEIS
H: F0 ME Ho CR(EHE1S)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BIE1S 1,075,424 1,049,926 25,498
FOOME B T2 (EHEIS) 190,600 190,600 0
HY=XHE 2 190,600 190,600 0
SUEX 145,080 145,080 0
301 YR FZ 145,080 145,080 0
07 S - 0% - SIEEESB A3 145,080 145,080 0
.83+ Y 25y 145,080
pIaJL=Sas, 300,0002 x312* 122 111,600
L. 41012 3000002 x3124 23] 18,600
Ch.slojgaaet
20,000 +31 #2312 14,880
FUXNRMEI2IH2Y 32,820 32,820
201 Yer2d| 32,820 32,820
01 AtR22lt| 32.820 32,820
(2er24l) 1,620
1. =R M E 22|
150, 000! * 122 *90% 1,620
(2g94+9) 31,200
1. =QURXIME QAL 31,200
JhHAATZX(ES)
25,0002 *8AI 2+ 128 2,400
Lh e Al 25,0002 *8AI2H 128 2,400
Ch. =S A0l mal
25,0002 *8AI 2t 128 2,400
et ZSMUma
25,0002 *8AI2t+ 128 2,400
O &t=0{ ma 25,0002 *BAI 2+ 12 2,400
OIS = A
25,0002 *8AI 2t 128 2,400
AL ORIEIR DA (X2
25,0002 *8AI 2t 128 2,400
OF.OFRAIE P DA (ZZ
25,0002 *8AI 2128 2,400
I HAAT R (ZZ)
25,0002 *8AI 2t 128 2,400
OBt R A (=3)
25,0002 *8AI 2t 128 2,400
ILIIEIRA(ES)
25,0002 *8AI 2+ 128 2,400
Et. 22| et 25,0002 +BA| 2+ 12 2,400
o 23t2ILt 25,0002 *8AI 2t 128 2,400
AR X2 2,700 2,700
201 LB H| 2,700 2,700
01 AlR2teld| 2,700 2,700




A EHEIS

Ha: =0l WA HO| T2 (RIS
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
TR
200,002 %128 2,400
2EBANEE U=
150,0003 * 17 2+23] 300
FUFAHU A SEHOEEAS 10,000 10,000 0
401 AIEHIZ SR 0HYI 7,000 5,000 2,000
01 Al&HI 7,000 5,000 2,000
1.20HH £X 3,000,000& *14] 3,000
2. SU42l LRB HEY)
4,000,000 *14] 4,000
405 AtatE = 3,000 5,000 /2,000
01 ML ESFSHI 3,000 5,000 22,000
1LHEST REUAHE &X
3,000,000 *14] 3,000
SADIEAIE BHI(BHE1S) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANES EHl 5,000 5,000 0
401 AlZHIZ S 0HbI 5,000 5,000 0
01 A& 5,000 5,000 0
422 ALE SR
5,000,000 14 5,000
Y2 AU (EHE1S) 879,824 854,326 25,498
el 2| 784,665 757,265 27,400
el 2a| 784,665 757,265 27,400
101 @124H| 754,545 728,825 25,720
01 &2 754,545 728,825 25,720
(23) 545,497
1L.esM0g) 86,978
h.s% 83,632,000& 1 83,632
Lt XS IH & 83,632,000 4% 3,346
2. XM2E(14Y) 458,519
ot.62(2653) 4,260, 1002 2H =122 102,243
Lh.72(988) 2,723,900 «5F~12& 163,434
Ch.s=2(628) 2,171,300 x5« 12& 130,278
ct.9=2(553) 1,872,000& x2E 12 44,928
OF. X0 & 440,883,000 *4% 17,636
(H0=¢) 46,941
1L.URs2E =€ 1,291
otestR(72853)
2,623,800 4. 1%+ 123 1,291
2.832+¢ 458,519,000 *1/12 38,210
3.32Eotts 7,440
Jh.258014 130,000 x1&* 122 1,560




SM: BEIS
M HZYRAZHI(BHE1S)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L. 1501 a~20= 012
80,0002 1% 12 90
CH. 1001 &4~151 0] 8t
60,0002 x1& * 122 720
2,510/ A~104 018
50,0002 7 * 122 4,200
OBIEd=g) 6,720
1.t5s¢ 6,720
I BN, 40,0002 x5+ 122 2,400
LEDJIERIS (R 28)
20,0007 * 122 1,680
Ct. S MAH 60,0002 x2& » 12 1,440
ch AR XA 100,000 x1&* 122 1,200
(S+22+9) 20,760
1.E5=225E 20,760
hS2R+E 70,0002 x14E 12 11,760
Lt 2IAAR 50,0002 x3& 123 1,800
CH A = R4
70,0002 6+ 122 5,040
ch AR SX RIS
30,0006 * 122 2,160
(zD2242) 6,575
LAIRMRIZRSE
11, 1303 +34A| 2E14H« 123 63,575
(24 8) 71,052
1. 3As4H| 140,000 x15F «12& 25,200
2. 9E=IHl 458,519,000 *1.2/12 45,852
204 AR AH| 30,120 28,440 1,680
02 M2l 30,120 28,440 1,680
1. A= 22 30,120
.55 250,000« 1H* 122 3,000
Lt.65 175,000& x2&~ 123 4,200
Ch.7= 165,0002 x5 *12& 9,900
ct.8~95 155,000 x7&* 122 13,020
=38l 95,159 97,061 1,902
JI=23Hl 95,159 97,061 1,902
201 fer= 3| 45,849 43,821 2,028
01 At 2|l 22,309 21,481 828
(Et==2Hl) 13,069
1. 2A2E 2| 300,0003 x 15 «80% 3,600
2.0HI2HRAIRESHI
100,000& * 12 1,200
S.IEHEH/=87gHI
250,000 *5CH*33] 3,750




A HE1IS
HE: HES AR (HFIS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
4. 2AESIIEH 72|
150, 000& »2CH*33] 900
5.0157|21= |
16,0003 20~ 123 384
6.0 25N LZEX 7|
86,5003 128 A 1,038
7. EUSESEEYIERI2YY)
26,0003 x248 A 624
8.=2AIEX 20,0003 »402f A 800
9. 80| Xt= 30,0003 «2CH* 122 720
10.A01SVAIEZ 4,4003 122 53
(298 600
1.e=x+g 60,0002 x1& 10 600
(=&Htl) 8,640
1.0I2gfs+dS2s54
8,000& 64 x15F «12& 8,640
02 S5=2g4l 23,540 22,340 1,200
(SSQ3LAA) 18,984
1.28823 9,624
Jh.get 4303 %1002+ 122 516
Lt.SII 2,5303 %3002+ 12& 9,108
2.40t=ERs 60,0002« 12& 720
3.8JI23 550,000 * 12 6,600
4. e EEAR 170,000 12 170
5. EHMAUQIHUAIEZ
15,0002« 12& 180
AHNLEER 470,000 x1CH*12] 470
7 RBEHEXNSEER
1,000,000& *1CH*12] 1,000
8. IS HAZE 60,0002 *1CH*13] 60
9. IS NHSHA 30,0003 *1CH*13] 30
10. X ESS KRS ASRA
130,000& *1CH*13] 130
(ANEZHIRXIHI) 4,556
1LBAAS 1,000,000& 1,000
2.2AMESD] 200,000 *1CH 200
3.HYYSI| 100,000 1CH 100
4. &= 50,000 *2CH 100
5. Z20IS0IAIAE 33,0002 *3LH*4=] 3%
6. X2 QIAAIAE 30,0002 *1CH* 122 360
7. dE 7= 150,000 *1CH* 122 1,800
8. & H xtek==Cltl 100, 000& »2CH*33] 600
202 04t 36,000 39,600 /3,600
01 =LHOHI 3,600 7,200 A3,600




A HE1IS
M HZYRAZHI(BHEIS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
1.=U0d8I 20,0003 102 +3 » 12 »50% 3,600
02 A0 32,400 32,400 0
1.2 A0 225,0003 12~ 122 32,400
203 =8| 9,240 9,240
01 J122geR=a| 5,940 5,940
1012288248
6,600,000 1 %90% 5,940
02 SRIHAH =T 600 600 0
RN E=ST 40,0002 %1524 600
M A2 LRSI 2,700 2,700 0
1L.ENMEZYER=AYI
250,000 x 122 *90f% 2,700
204 MR AH| 1,800 1,800
01 MM SR+ AY| 1,800 1,800
1A= 1,800
h.s& 150,000& x1 &= 123 1,800
405 AHaHE S 2,210 2,600 A330
01 ML ESF SHI 2,210 2,600 A330
1.034 Tl 1,520,000 *1CH 1,520
2l A 370,000 1CH 370
3.2134 WAY| 380,000 *1CH 380




H & 0l & AHS B Ml A

20233 =0l LA DIEtSE S

SA: EHM2S

Ha: 0l WA HO| £ (EIX2E)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SFSPE=S 1,153,239 1,141,821 11,418
=0l A Ho| ER2(EHN2S) 218,376 231,757 A13,381
YIS 29 218,376 231,757 /13,381
SHEAZE 173,160 173,160 0
301 EetE NS 173,160 173,160 0
o7 8% -0 - H¥Es243 173,160 173,160 0
1. S¥+=EL eS| 173,160
rol=eE 300,000 *x37E~12& 133,200
Lt &012 300, 00024 %37 % #25] 22,200
Ch.319 & a4
20,0002 37 =23 12 17,760
FUNXMEEZ )Y 2 25,620 25,620
201 et 3| 25,620 25,620
01 At2t2l] 25,620 25,620
(2er=2Hl) 1,620
1LFUNXIME 23]
150,000 * 122 x90% 1,620
(2e=¢) 24,000
1LFEXXIME ZAE =& 24,000
JhERLA 25,0002 x8Al 2t 12 2,400
L HAATX(ZZ)
25,0002 +8Al 2t 123 2,400
ChHAAEX(EZ)
25,0002 +8Al 2t 128 2,400
b HAATX(DF)
25,0002 x8Al 2t 12 2,400
OF. 2ItmA (23 2018t
25,0002 <8Al 2t 123 2,400
Bt 2Itw Al (I 2ItE)
25,0002 +8Al 2t 128 2,400
AL AEYE DA
25,0002 x8Al 2t 12 2,400
OL.oIRuaA 25,0003 x8A12H+ 123 2,400
NNV 25,0003 *BAlI 2t 123 2,400
PNIFSE =y 25,0003 *BAlI 2t 123 2,400
A RA2e| 9,5% 22,977 13,381
101 e124d| 7,104 6,705 39
M ORNZZ2NSE S 7,104 6,705 39
(SEAF 4 22 7,104
1.e 76,960/8A1 2+ 1H+55A1 2+ 12 6,350
2. 1EPE= 6,350,000& *1.75% 12
A EE=E 6,350,0002 +0.878% 56
4. =0HSEEE 6,350,000 4. 5% 286
5. 30 EEE 6,350,000 *3.495% 222
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S BHEeS
M 0 WY HO TR2(EHN2E)
el HESKEEH 29 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
6. -FIRALBER
222 ,00024%12.27% 28
7. 28 A2HN BIE 50,0002 %12 50
201 =3 2,492 2,492
01 AtS2t2ltl 2,492 2,492
1.2012H| 22/ 166,000& « 122 1,992
2.BMED| HEES 250,000 #22] 500
AU A SEHOESAS 10,000 10,000 0
401 AlEHIYL 201 6,000 10,000 A4,000
01 A=l 6,000 10,000 4,000
13lEd" 22 32 RAl, 25 At
1,500, 0002 *20H A 3,000
2. &= =X HIX 2% At
500,000 6K 3,000
405 KHAHF SH 4,000 4,000
01 TR ESF SHI 4,000 4,000
1.430] SEEI| WX 0ISAl LTV &XI At
4,000,000& 14 4,000
SADIBAIE FHI(EfE2S) 5,000 5,000 0
SAIDIBHAIE EH| 5,000 5,000 0
AES AIE=S EH 5,000 5,000 0
401 AIEHIZ R 0HYI 5,000 5,000 0
01 A&l 5,000 5,000 0
1.AE23 AIE2E |2l
5,000,000 = 14! 5,000
A2 AAH|(EHE2S) 929,863 905,064 24,79
eI 833,287 802,882 30,405
eIE =&l 833,287 802,882 30,405
101 Q124H| 801,187 772,582 28,605
01 2 801,187 772,582 28,605
(82) 563,709
1LHsSH(Y) 86,978
s 83,632,000& 1 83,632
L. XS0 ] 83,632,000 *4% 3,346
2. 25 E(159) 476,731
ot.6=(23&88) 4,113,600 +3&~ 123 148,090
Lt.727ss) 2,518,500 «4H 122 120,888
Ct.8=2(683) 2,075,500 «6F « 122 124,530
et.o=2(4s3) 1,802,400 «3F ~12& 64,887
OF. M <0 & 458,395,000 *4% 18,336
(8¢ 48,248
.32 476,731,000&*1/12 39,728
2. 82xE0Ht= 8,520




2A: EN2s
S HY2AAU|(EHE2S)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Jh.25101 & 130, 00024 +224 » 122 3,120
L+.201 0] &~2514 0/ Ot
110,000 x1H + 122 1,320
Ct. 15 0] &~20= 0] BF
80,0002 12128 90
2}, 10401 &~ 15 0] 8¢
60,0002 x 1« 12& 720
OF.5401 &~10: 0] 2
50,0003 x4 =123 2,400
OB ) 23,520
1. 0152 5,520
It B Xt 40,0002 +3H12& 1,440
LE.JIEDISE 20,0002 14+ 122 3,360
Ct.EM XA 60,0003 *1H 123 720
2.20t58 Y 1,500,000& x 19+ 12& 18,000
(S222+) 23,040
1. 582 23,040
t.s22=Y 70,0003 =158+ 12& 12,600
Lt BIRARPE 50,0003 x4F 123 2,400
Ch AL =X g2+
70,0003 +7H* 123 5,880
chAISISE XL R+Eoteta
30,0002 x6H*12& 2,160
(ZU22+Y) 68,116
1.A12t2122E
11,1303 *34A1 2158« 123 68,116
(AHl24 S) 74,554
1. Z3HZAH| 140,0002 x 16 =123 26,880
2. BE SOt 476,731,000&4%1.2/12 47,674
204 MM AH| 32,100 30,300 1,800
02 Ha2X| 32,100 30,300 1,800
1. 828Xl 32,100
ot.5=2 250,000 x 15+ 12& 3,000
Lt.6=2 175,000& x3H » 123 6,300
Ct.7= 165,000 x4 » 123 7,920
ct.8~9= 155,000 +8H 122 14,880
E=pls]l %,576 102,182 Ab,606
J|1E23&| %,576 102,182 A5,606
201 L2 AH| 47,756 48,562 2806
01 AtR2elt] 24,294 24,154 140
(Ler29y]) 13,758
1. 24A2Z | 300, 0002 * 16 *80% 3,840
2.0 EEIHEH/EY
200,000& *4CH*43] 3,200
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A EH2S
T BB (HLS)
&l J1=23l (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
3.2180|e1=2 20,0003 #3120 & 720
4.0150| 2 =4 100,000 <22 200
5.2AMESIIEH 180,000 »1CH*62] 1,080
.FpSES==¢sEXN
26,0003 »302¢ A 780
7.02SHNLSEN
87,0003 x202 A 1,740
8.2 AIEX 20,0003 »402f A 800
0.0BIZERMNEES 100,000 «12& 1,200
10.CAgessdlz
16,5002« 104~ 12 198
(dxt=) 720
1LEJ18%8 30,0008 «2CH* 122 720
(2d=¢) 600
1Le=8+d 60,0002 x1& 10 600
(S&Htl) 9,216
1128 fs-8S2sA
8,000&x641 %16« 122 9,216
02 324l 23,462 24,408 A946
(SS2SLHA) 18,574
.28z 7,104
bt 4303 %2002 * 122 1,032
Lt. S 2,530 x20024 123 6,072
2.8z 700,000+ 12 8,400
3.uoteERs 70,0003 * 122 840
4. 83X AR 200,000& =22 400
5.EHENATEE
560,000 «1CH*12] 550
SHINESENMNE 60,0002 *1CH*12] 60
7. SIS XS XA
30,0003 *1CH*13] 30
B.AEEEANNHEER
1,000,000& *1CH*12] 1,000
9.9 EESXXEHAME
60,0002 *1CH*12] 60
10. XSS XS NHSIHA
130,000 *1CH*13] 130
(A EZHISXIH]) 4,888
1LEMNA=Z 950,000 950
2.8 LEEH| 100,000 *14] 100
3.2AESD] 150,000 1CH 150
4 YR = 150,000 x1CH* 123 1,800
5. &8y xtek==Clbl 100, 000& »2CH*33] 600
6. 20| - HI=J| R - FFUI
100,000 *4CH 400

_%_




2A:

Ei&2S

M Y RAZHI(EHE2S)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
E=NERNEEEW
33,0003 *4CH =43 528
8. XZ2olal (el ) AlAE
30,0002 *1CH* 122 360
202 04| 37,200 42,000 4,800
01 =LHOLI 4,800 9,600 24,800
1.=LH0dHI 20,0003 * 10 x4 H + 122 +50% 4,800
02 XN 32,400 32,400 0
124048l 225,0008 x 128« 12 32,400
203 HR=AH] 9,820 9,820
01 J|2=gge=ay] 5,940 5,940
1012288 RF4| 6,600, 0002 *90% 5,940
02 32 JRHH 2= 640 640 0
LB E R =A] 40,0002 16 640
M FA2HLRFEI 3,240 3,240 0
1L.2A28E R4
300,000& »90%* 12 3,240
204 AR AH 1,800 1,800
01 AHI AR Y| 1,800 1,800
LAHMSH I 1,800
=% 150,000& x 12+ 123 1,800
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Al A

=3 o
0238 20lat LEBIH L JIBSESIH 1dS ~ =23
SN PUS
Hm: 30l WA MO CQ(YE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oS 1,275,969 1,291,243 A15,274
=0l A Ho| E2(FYs) 251,144 264,145 A13,001
YIS 29 251,144 264,145 /13,001
.8y N3 205,920 205,920 0
301 EetE NS 205,920 205,920 0
o7 s&-01% - tEes2y 205,920 205,920 0
.88+ ¥ 234l 205,920
rol=eE 300,000 x44EH 12 158,400
Lt &012 300, 00021 #4425 26,400
Ch.319 & a4
20,0002 x44H =23 122 21,120
FUNXMEEZ )Y 2 25,620 32,820 AT,200
201 et 3| 25,620 32,820 AT7,200
01 At2t2l] 25,620 32,820 AT7,200
(2er=2Hl) 1,620
1.2 AIME 28
150,000 * 122 x90% 1,620
(2e=¢) 24,000
1LFEXNX A ZA=E 24,000
b HAATIX(ET)
25,0002 =8Al 2t 12 2,400
Lt HAATX(EZ)
25,0002 +8Al 2t 122 2,400
ChAHAAT=(DZ)
25,000 *8Al 2t 128 2,400
et CHOIEHA(ES)
25,0003 *8AI2H+ 128 2,400
Oh.CIOIOIEHA(S2)
25,0002 +8Al 2t 122 2,400
bt 2Jtna(==)
25,0002 +BAI 21+ 122 2,400
AL RItRA(E2)
25,0002 =8Al 2t 12 2,400
OL.IJIRuA 25,0002 +8Al 2t 122 2,400
A=8018 25,0003 *BAI 2t 123 2,400
R HEH ZHA
25,000 x8Al 2t 12 2,400
ARl 2tel 9,604 15,405 25,801
101 @124H| 7,104 6,705 399
M ORIMZZ2NSE S 7,104 6,706 399
(SEA 2129) 7,104
1.804 76,9602 /BAI 2+ 1H+55A1 2hx 128 6,350
242" = 6,350,0002 *0.878% %
3. NELER 6,350,000& *1.75% 12
4. =0=282 6,350,000 4. 5% 286
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SN PUS
Hm: 30l WA MO CQ(YE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
5. 30 EE= 6,350,000 *3.495% 222
6. RLTPE=E
2220002 %12.27% 28
7. AL B &I 50,0002 x1H*13] 0
201 2= 2,500 2,700 A200
01 AlR22IH| 2,500 2,700 200
1. 2oIAY 2R H 2
200,000 * 122 2,400
2 HNTIIQHYB A4
50,0002 *23] 100
FUHCUH A SEHEAS 10,000 10,000 0
401 AIEHIZ SR THYI 10,000 0 10,000
01 AlZ8| 10,000 0 10,000
1LASSIIXS SeE HEX
10,000,000 * 14! 10,000
SADIEAIE HEI(PLS) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANE=E FHl 5,000 5,000 0
401 Al HIZ S OHbI 5,000 5,000 0
01 AlZ2H| 5,000 5,000 0
1.4=25 AldE |2
5,000,000 * 14 5,000
HY2HIH(PLS) 1,019,825 1,022,098 N2,273
eIE =g 908,385 907,668 7
el =gl 908,385 907,668 7
101 @1A4H| 874,185 875,388 1,203
01 2= 874,185 875,388 A1,203
(22) 611,962
1L.esSM0g) 86,978
s 83,632,000 *1& 83,632
BpSE ) Fal:] 83,632, 0003 *4% 3,346
2.M2E(169) 524,984
Jh.6=(2388) 4,113,600 «3E 122 148,090
Lh72(858) 2,623,800 «6E « 12 188,914
Ch.s2(628) 2,075,500 «5E « 12 124,530
ct.o=(4ss) 1,802,400 x2&* 122 43,258
O X0 504,792,000 *4% 20,192
(& =¢) 56,187
LUesRE=< 3,558
It52UR(623053)
4,409, 1003 184 1% 123 2,170
Lt.62tHR(721083)
2,819,500+ 18 #4 1%+ 128 1,388
2.82+¢ 524,984,000& x1/12 43,749
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SN PUS
I BHSEHY|(PYS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
.32+t 8,880
Jh.25800 2 130,0002x1&+12& 1,560
Lt.2010] A5 0] 2t
110,000 x1&* 122 1,320
Ct. 15 0[&~204 012t
80,0002 x1& * 122 960
ct. 10H0[&~154 012t
60,0008 x2& * 122 1,440
OF.5E01&~10 012t
50,0002 6 122 3,600
ORIEE+) 28,080
IBIE-=ac 10,080
oh IRt 40,0002 46% 122 2,880
WRVERS=TE D P
20,0002 58 122 1,200
Ch A= (SMAHA)
60,0002 38 * 122 2,160
2. XHA S (ATOIF RHA)
100,000 x2&* 122 2,400
O JIERDIS 20,0003 6 128 1,440
2.850t5X8+E(78623)
1,500,000& x1E~12& 18,000
(S+22+E) 24,240
1.5+=22+8 24,240
S22+ 70,0002 x16E 128 13,440
Lt QAR 50,0002 x4 122 2,400
ChALRISXIS R
70,0002 +7E* 122 5,880
ch ARSI RFEI=
30,0008 7 x 122 2,520
(ZU28+H) 72,657
LAIZRIZ222E
11,1303 *x34A1 2Hx 16« 12 72,657
(24 8) 81,059
1.3 NS4 140,000 x17H* 122 28,560
2. 3E =0l 524,984,000&*1.2/12 52,49
204 APt AH 34,200 32,280 1,920
02 H=a2xH] 34,200 32,280 1,920
1. A= 2XH 34,200
.58 250,000 «1H* 123 3,000
Lt.6= 175,00024x3&* 122 6,300
Ct.72 165,000& 62~ 123 11,880
ct.8~9= 155,000 7~ 123 13,020
=3l 111,440 114,430 22,990
Jl=3H] 111,440 114,430 22,990




SN PUS
M HARAIH|(FLS)
el D=3l
RA - BH SRS - LAY - BAS ofl &t A
201 LBt 57,020 56,900
01 AtR2telbl 28,368 28,368
(2et24l) 15,072
1. 24AN2E S| 300,000 *17H+80% 4,080
2.0 ZHRAIRES 100,000& « 122 1,200
3.EEHEU 180,000 *5CH*42] 3,600
4. 2ANESEIEY 180,000 +2CH*42] 1,440
5. Z2IHS A 300,000 *22 600
6.21571cl=2 20,0003 401 = 128 960
7.20150123 25,0003 x2JH*42] 200
8.21E8)| A 200,000 %12 200
9.FpSESE==
26,0003 202 A 520
10.258e=sS+8A
80,0003 » 128 A 960
1.SEUALS) 253,000 *42] 1,012
2. 48SAUHUA 300,000& *12 300
(2d=¢) 600
1.e=AG 60,0003 »1& %102 600
(gxt=) 2,904
1.83=0] X2 30,0003 <2CH+12& 720
2.zeiely ¢
182,000& «1CH+12& 2,184
EELD) 9,792
11282 +dS28
8,000 +6AIx17H+ 123 9,792
02 3224l 28,652 28,532
(SZ2SLHA) 23,900
1.28E2 9,592
Jb. et 4303 +27024+ 123 1,3%4
Lt.SDI 2,530 x27024 128 8,198
2.801= 850,000 123 10,200
3.4 ot ls 150,000 « 122 1,800
4 QEIHAIES 28,0003 x1CH=128 336
5. 3 NERE S (HE )
60,0003 *22] 120
AN EER 542,000& 12l 542
A XS XA 40,0002 %12 40
HEXEEI AR
70,0003 %12 70
9. MIIXNEEZ(ASEEN)
1,000,000& %12l 1,000
10. &I XK= KA 130,000& *12 130
.8 XHE Atz 70,0002 %12 70
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SN PUS
A HZRAZH(FLS)
el JI=2 3 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(A EZBISXIH]) 4,752
1LEAAE 1,000,000& 1,000
2.8 LEE| 200,000 *1CH 200
3. 2AIEED] 100,000 *2CH 200
4. dHEY RS 100,000 1CH= 123 1,200
5. &I S&H 30,0002 +13|x 12 360
6. FAE=H
130,000 *10CH 1,300
7. 2Q2OIA A FXIE =
33,0002 #42 132
8. A2 UAMAIAE FXIZ==H
30,0003 x12& 360
202 04dl 39,900 44,700 /4,800
01 2L AL 4,800 9,600 4,800
130 20,0002 102 x4 x 123 x50% 4,800
02 XN 35,100 356,100 0
1.EA0dH 225,0002 x13F 128 35,100
203 HR=H] 11,030 11,030
01 J|2=2gedR=a] 7,10 7,110
10122824
7,900, 0002 * 1 +90% 7,110
02 3t RS &| 680 680 0
[IESEaP) Faiges Bt lal 40,0002 %17 680
04 PAE2EERFAH 3,240 3,240 0
1L.2A2EBRFALI
300,000& x 122 x90% 3,240
204 ARt AH 1,800 1,800
01 AMGHR A A 1,800 1,800
[BESEs == Rt Sia] 1,800
s 150,0002x1&~12& 1,800
405 AtatsE = 1,690 1,690
01 TR ESFSHI 1,690 1,690
1.0EASEAL 520,000 *2K 1,040
IR S A 300,000 *1H 300
YIS =L 350,000 *1H 350




H & 0o & A E Al A
NBET =olar ks, JIEISEE K DAE - 228
SH: BSS
B 0l HE HO CR(BSE)
el HESKEEH 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
2433 1,106,808 1,100,871 5,937
F0 N Hol S (2A2S) 183,904 183,505 39
HY=SXHEH 29 183,904 183,505 39
sHE XA 135,720 135,720
301 LEHBEF 135,720 135,720
07 E& - 0| - RSS2 AE 135,720 135,720
.88 ¥ g4l 135,720
tolesg 300,000& x29H 123 104,400
Lt &S 300,000 x29Y +23| 17,400
Ch. 310l & At gt
20,0002 29 +23|* 123 13,920
HH=AEH 278 2H 28,020 28,020
201 2| 28,020 28,020
01 ArR2eltl 28,020 28,020
(Qurr24) 1,620
1 BH=THE 28
150,000 * 122 *90% 1,620
(242 26,400
1. HESKIME ZAS 26,400
Jb.AM A 25,0002 x8BA| 2t+ 128 2,400
Lb mRtE A 25,0002 +8AI 2H 122 2,400
Ct.2Jtwa 25,0003 x8AI 2t 12& 2,400
eh.ot2LPtnA(E2)
25,0002 x8A| 2t+ 122 2,400
RS I=TNEISIE Y
25,0002 +8A| 2tx 128 2,400
Bt.=&01= 25,0003 +8A[2t+12& 2,400
ALt Al 25,0002 *8AI 212 2,400
OF.2holch A 25, 00021+8AI 2h 1224 2,400
Xt 2HE0ILENER)
25,0002 +8A| 2+ 128 2,400
% 2HE0ILEHES)
25,0003 +8A[2t+12& 2,400
I AamUA 25, 000218AI 2h 1224 2,400
AL RXl2el 10,164 9,765 39
101 @I24H| 7,104 6,705 39
M IIZtHZ22HSE* 7,104 6,705 39
1. SEAMELRY 7,104
o122
76,9603 /BAI 2H+ 1 +55A 2++ 12 6,350
L. ngws 6,349, 00021%1.75% 112
CHAtHEE 6,349,000& *0.878% 56
ct.20HAZEH 6,349,000 4. 5% 286
O 20HLEE 6,349,000& *3.495% 222
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A HES
B 0l HE HO CR(BSE)
el AHISAHE 29 (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
. LI EIIQAESH 222 0003 %12.27% 28
A 22 H & 50,0003 x1H*13] 50
201 fet=23y| 3,060 3,060
01 AtR2tc|HI 3,060 3,060
(A2 EHR) 3,060
1.2l ===
230,000 * 122 2,760
2BNFIINO 442
150,0003 *17H A +23] 300
FUHCUH A SEHEAS 10,000 10,000 0
201 ger= 3| 10,000 0 10,000
03 &A= 10,000 0 10,000
1. 23S 232 Hel 'E3eHSI| A
10,000, 00021 %13] 10,000
SADIBHAIE HHI(2SS) 5,000 5,000 0
SADIBEAIE F| 5,000 5,000 0
£32 A&2 F 5,000 5,000 0
401 Al&EI L2 CHE] 5,000 5,000 0
01 Al&H| 5,000 5,000 0
14232 AL |12
5,000,000 * 14 5,000
HY2HAH(2SS) 917,904 912,366 5,538
el 2| 820,602 809,794 10,808
el 24| 820,602 809,794 10,808
101 @124H| 788,502 779,614 8,888
01 &2 788,502 779,614 8,888
(22) 567,79
1LesSM0g) 86,978
hsE 83,632,000& 1 83,632
BapSE ) Fal] 83,632,000 *4% 3,346
2. X:2E(159) 480,817
ot.628(2453) 4,165,000 «3H 122 149,940
Lh.72(988) 2,723,900 x3E12& 98,061
Ch.s2(658) 2,075,500 «6E « 12 149,436
ct.o=(4ss) 1,802,400 x32* 12 64,887
O X0 462,324,000 *4% 18,493
(M =¢) 47,029
1.832+¢ 480,817,000&*1/12 40,069
2. 832 +git=s 6,960
Jh.25301 4 130,000 x1&* 12 1,560
L+.20E 01 &~25 012t
10,0002 x1&* 122 1,320




SN 2SS
M HZRIZH|(ZSS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ct. 15 &4~20= 0] 2t
80,0002 1% 12 90
2. 1001 &4~151 0] 8t
60,0002 x1& * 122 720
D501 &~108 018
50,000 x4 * 122 2,400
OBIEd=g) 6,960
1.0tEE 6,960
I BN, 40,0002 x62* 122 2,880
L. OIEMIS 20,0002 x11&~ 128 2,640
Ct. S MAH 60,0002 x2& 122 1,440
(S+22+8) 23,640
1.5+22+8 23,640
l.s22+E 70,0002 x15F 128 12,600
Lt QAR 50,0002 38 » 122 1,800
ChALRISXIS R
70,0002 8 * 12 6,720
ch Al SIS R+EIR=
30,0002 +7% 122 2,520
(2224E) 68,116
BRI,
11,1302 #x34A12H+ 158« 123 68,116
(AHIZE4 S) 74,962
1.3 NS4 140,000 x16E 122 26,880
2. BEFII 480,817,000&#1.2/12 48,082
204 ARt AH 32,100 30,180 1,920
02 M=a2xH| 32,100 30,180 1,920
1. A= 2XH 32,100
.52 250,000 «1H* 123 3,000
Lt.6= 175,0002x3&* 122 6,300
Ct.75 165,000 x4 * 122 7,920
ct.8=~9= 165,000 x8& * 12 14,880
=3l 97,302 102,572 A5,270
Jl=23H] 97,302 102,572 A5,270
201 Ler23| 46,432 46,652 2220
01 At2teltl 23,244 23,244 0
(er=2Hl) 12,708
1.24A2E Sl 300,000 16 +80% 3,840
2.0HI2H2 AR EEHI
100,000« 12& 1,200
3.doIMERE EH/EHY
200,000 +6CH*43] 4,800
4.2ANEST] B 100, 000& »2CH*23] 400




SN 2SS
A HZRAZH|(2SS)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
5.01aE8MLSE+EN
80,0002 108 A 800
6.XS=ESE=LIEN|
26,0003+ 182+ A 468
7.2 AEX 20,0003 »302¢ A 600
8.e157| el= 20,0003 =201 122 480
9.70gs5rlz 10,0003 =104~ 123 120
(dx=) 720
1.8 30,0003 «2CH* 122 720
(2g9+¢) 600
1.8 60,0002 x 12 %10 600
(SzH) 9,216
IPEEE RS TEE E W
8,000 x6A1*x 16 * 12 9,216
02 35284l 23,188 23,408 2220
(3323 & MA) 19,904
1.98= 7,104
Jh.get 4303 %2002 * 122 1,032
Lt. S 2,5303 %2004~ 128 6,072
2.8z 850,000& * 122 10,200
.40l 50,000& * 122 600
4 8INY E8s 700,000 *1CH 700
5. 80Ix E8& 1,000,000 *1CH 1,000
6. &YXt KSIHAl
150,000 *2CH*13] 300
(A EZBISXIH]) 3,284
1LEARIS T2
800,000& *17H A 800
2. 2AHEED] FX22|
100,000 *2CH 200
L= =Al2ell 100,000 1CH 100
4. ZRIEIANAE KX 2==H|
33,0003 »2CH*43] 264
5. N2OIAAIAE S22t
30,000 *1CH* 12 360
6. A 7= 80,000~ 1CH* 122 960
7. AE I =cll 100,000& »2LH+*32] 600
202 04l 38,700 42,300 23,600
01 =LHAHI 3,600 7,200 A3,600
1.=U0d8I 20,0002 * 102 38 x 122 +50% 3,600
02 A0 35,100 36,100 0
1.2 N0 225,000 x13F~ 128 35,100
203 =48] 9,820 9,820
01 D22 HARFA| 5,940 5,940
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Al A

N & d &
2023 204 LB JIEISEESIH D8s ~ =295
24 sUlis
Ha: 0l #E HO| CR(SYE)
el AE=SANEEHESE EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
sUS 1,231,546 1,173,371 58,175
Fo Y Hol S2(SUSs) 241,898 229,994 11,904
HE=SXHH2E 241,898 229,994 11,904
SEHEXIR 191,880 187,200 4,680
301 LB F 191,880 187,200 4,680
07 8% - 01% - BHESSEAZ 191,880 187,200 4,680
1.8&2Y 2 23| 191,880
ot o= 300,000& x41H +12& 147,600
L. &3 300,000 *41H 23| 24,600
Ct.3le=Y 20,0002 *41B+23|* 123 19,680
FOXXHEHEZ IHE S 20,820 20,820
201 B2 AY| 20,820 20,820
01 A=R2teld| 20,820 20,820
(Let=2H|) 1,620
1LFSTXIME 2|
150, 000& * 12 x90% 1,620
(2g92¢) 19,200
1. =AKIME ZASY 19,200
Jb A wWA 25,0002 x8BA| 2t+ 128 2,400
Lt.2tolchA Al
25,0003 x8A| 2tx 12 2,400
Choeual 25,0002 %Al 2+ 122 2,400
ch. It al 25,0003 x8A| 2t+ 12& 2,400
Ot otuwal 25,0002 x8BA| 2t+ 128 2,400
Ht.E2wa 25,0002 x8A 2H 12 2,400
AL EOPDE FOIXXIHE Z2
25,0003 *BA| 2H2IH * 123 4,800
AR 22| 20,198 12,874 7,324
101 2124 d| 7,104 0 7,104
M IIZNZ2 2 NS Es 7,104 0 7,104
(SEAMN HA o2 7,104
1.2 76,9602 /BAI2t+1H*B5A| 2k« 128 6,350
2AMNEEZ 6,350,000& *0.878% 56
3.1EBER 6,350,000 *1.75% 112
4. Z0HAZEEZ 6,350,000 *4. 5% 286
5. 301AHLEE= 6,350,000 *3.495% 222
6.LCRINQLUBEZ
222,000 *12.27% 28
7. 2423 &H| 50,0002 *1H*13] 50
201 B2 AY| 13,04 12,874 220
01 A=R2teld| 13,094 12,874 220
1.2l 222
350,000& 12 4,200
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A SUS
Ha: 0l #E HO| CR(SYE)
e HE=SXNHEHES (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
2 BN RSS2
280,000 * 122 3,360
L EMSZIISR 22
132,000& 122 1,584
4. FANSZINEII B (SIS
130,000& %12 130
S.AAEEE U= 3,520
I AZAIEotE 2L 190,000 10 1,900
L EEEUEY ¥ XSIISHY
810,000& 22 1,620
B A2t NFErS 300,000 300
FAUZA O STHOHE A 9,000 9,100 2100
405 AHaHE S 9,000 9,100 A100
01 ML ESF SHI 9,000 9,100 A100
L ASZ-ESSAUZY ANEDSY ZX
9,000,000 %14 9,000
SADIBAIE HHI(SUS) 5,000 5,000 0
SAIDIBEAIE EH 5,000 5,000 0
A== AES EHl 5,000 5,000 0
401 Al HIZL 01| 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1.AZ25 AIE2E |X2el
5,000,000& *14] 5,000
HY2AZHI(SUHS) 984,648 938,377 46,271
elg 23 859,056 821,055 38,001
elIg =3 859,056 821,055 38,001
101 @124H| 826,836 790,635 36,201
01 &= 826,836 790,635 36,201
(=) 597,134
1.HEM(18) 86,978
s 83,632,000 *1H 83,632
B SSESY) Fals 83,632,000 4% 3,346
2. 25 4(169) 510,156
tes(1728) 3,738,800 <32 *12& 134,597
Lt.72(1083) 2,819,500 x5 123 169,170
Ch.e=(783) 2,267,400 6H 122 163,253
ct.9=(653) 1,959,500 x1&* 122 23,514
OF. M < IH & 490,534,000 *4% 19,622
(&0i==d) 49,473
.82+ 510, 156,000& *1/12 42,513
2.32dotts 6,960
J+. 1501 &~20H 01 2
80,0002 38 * 122 2,880
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SN BUS
M HYRIZHI(SUHS)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
L. 10H0[&~15E 012
60,0002 +42 12 2,880
CF.50/44~100] 8¢
50,0008 x2& * 122 1,200
OHHEd=S) 9,600
1.I1E+8 9,600
. B AL 40,0002 x62* 12 2,880
LEIIEDFS 20,0003 14 x122 3,360
CHORMS (S M)
60,0002 38 * 122 2,160
NS ICTPUEY
100,000 x 1 * 122 1,200
(S+22+9) 24,617
1L.E282E 24,617
I.s2F2=E 70,0002 x15F 128 12,600
Lt QAR E 50,000 x3&* 122 1,800
CH ARSI R
70,0002 x7& 123 5,880
ch At S XIS
30,0002 6 122 2,160
Db AR
2,267,400 8= 18 x 122 2,177
(=222 68,116
LAIRRIZRSE
11,1302 x 152 +34A| 2+ 123 68,116
(24 8) 77,8%6
1. 3As4H 140,000 x16E  12& 26,880
2. 3E=IHl 510, 156,000& *1.2/12 51,016
204 e A 32,220 30,420 1,800
02 Mz2 2] 32,220 30,420 1,800
1. A= 22 32,220
.55 250,000« 1H« 122 3,000
Lt.65 175,0002 x38 * 12 6,300
Ct.7= 165,000 x5 * 12 9,900
ct.8-9= 155,000 7 * 122 13,020
=34l 125,592 117,322 8,270
JI23Hl 125,592 117,322 8,270
201 et 3| 71,022 62,802 8,220
01 At22t2l] 23,126 23,126 0
(Et==2Hl) 11,030
1. 228+ 300,0002 x 16 «80% 3,840
2.0l ZHRAIRES 100,000& * 12 1,200
3.U0INER-EEH/EY
200,000 +50H*23 2,000
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2A:

s
M HYRAZHI(SUHS)
29l Jl=3l (crel ®2l)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
3. HYYSHHIF AL 100,000 14| 100
4. 2ANEST] 170,000 *2CH 340
5.&==J|RXl&cll| 70,0002 *2CH 140
6. ZUEQAAHFI SH| (LR A)
33,0003 *3CH*43] 3%
7. Z2Ef 2| AR R X2t
30,0002 «1CH =12 360
8.HIINSXHHIAESRS
50,000 1CH* 122 600
(Xt&Eetyl) 2,600
1. A== 150,000 x1CH= 123 1,800
2. A EBIs b 200,000 x2CH*23] 800
202 04dl 38,700 42,300 A3,600
01 2L AL 3,600 7,200 23,600
130 20,0002 102 3 » 12 +50% 3,600
02 XN 35,100 356,100 0
1.EA0dH 225,0002 x13F 128 35,100
203 HR=H] 9,820 9,820
01 J|2=2gedR=a] 5,940 5,940
10122824 6,600, 000& 90 5,940
02 H3ItaHH R F&| 640 640 0
13 H RN 40,0002 16 640
MU FA2SHIFII 3,240 3,240 0
1.2A2EHRFALI
300,000& 122 x90% 3,240
204 Xt AH| 1,800 1,800
01 MG HI A A 1,800 1,800
1LAMIHRFAY 1,800
s 150,000 x 12 * 12 1,800
405 KHoHFSHI 4,250 600 3,650
01 ML ESFSHI 4,250 600 3,650
1.SEAF ZEED 7 850,000 *1CH 850
A Fge 1Y 400,000 ~6 K 2,400
e 2 1,000,000 «1CH 1,000
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=N SEHS

[=R Sy}

ZA: CADIBAIE HH(SES)
SRl ZADIEIAIE FHI (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SADIEAIE HEI(SES) 5,000 5,000 0
SAIDIEIAIE EHI 5,000 5,000 0
A== ANE= FHl 5,000 5,000 0
401 AIZHIX 20HH 5,000 5,000 0
01 AlZ28| 5,000 5,000 0
1.4=25 AldE |2
5,000,000 *14 5,000
HY2HZHI(SES) 1,011,324 966,225 45,099
eIE =g 877,323 830,219 47,104
el =gl 877,323 830,219 47,104
101 @1A4H| 845,343 800,039 45,304
01 2= 845,343 800,039 45,304
(22) 581,405
1L.esSM0g) 86,978
h.s& 83,632,000 *1& 83,632
BpSE ) Fal:] 83,632, 0003 *4% 3,346
2. M2 E(159) 494,427
oh.6=(2088) 3,941,100 «2F 128 94,587
Lh72(1283) 2,998,200 x5« 12 179,892
th.e2(7&3) 2,267 4003 «5H 123 136,044
ct.o=(4ss) 1,802,400 x3&* 122 64,887
OF. X IR & 475,410,000 *4% 19,017
(&0i==d) 50,499
L3R =& 1,976
t.62UR(7330ES)
4,015,500 1 *12& 4. 1% 1,976
2.832+¢ 494,427,000%1/12 41,203
E2sgts 7,320
Jh.25800 4 130,000 x1& =123 1,560
Lt.20H0(& 25012t
110,000 x 12 * 122 1,320
Ct. 1001 &~15012¢
60,0002 x2& 122 1,440
ct.550(&~104 02t
50,0002 x5 122 3,000
OHEd+g) 46,800
1.0tE=g 10,800
It HHS R 40,0002 82+ 123 3,840
L. OIEMIS 20,000 7 * 122 1,680
B DNE 20,0002 +7E~ 122 1,680
ch. S M 60,0002 x5« 122 3,600
2.=20I58 ¢ 1,500,000 x2F « 122 36,000
(S+22+E) 2,200
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2AM sES
B HESAAY|(SHE)
SERRIEESS(T (Shol: &2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
1.Ex82YH 22,200
t.s2f=g 70,0002 *158*12& 12,600
Lt BIRZ2R2+Y 50,0003 x4 123 2,400
Ch AL =X g 2+Y
70,0002 x6Z +12& 5,040
ch AL S XL R=Eotet=
30,0002 <6 12& 2,160
(ZU22+Y) 68,116
IEEEEESE
11,1303 *15H *34A| 2H+ 12F 68,116
(AHI24 S) 76,323
1. 2HZAH| 140,0002 x 16 =123 26,880
2. BE SOt 494,427 ,000&4%1.2/12 49,443
204 MM AH| 31,980 30,180 1,800
2 AZ2E2x| 31,980 30,180 1,800
1. 832 2| 31,980
ot.53 250,000 x1Z+12& 3,000
Lt.6=2 175,000 2+ 12& 4,200
Ct.7= 165,000 x5 » 123 9,900
ct.8~9= 155,000 +x8F 122 14,880
[2Zl 134,001 136,006 A2,005
Jl=2Z| 134,001 136,006 A2,005
201 Ler2I| 82,431 82,386 45
01 AtR2elt] 29,361 29,316 45
(Ler=2dl) 14,637
1. 24A2Z+=EH| 300, 0002 * 162 *80% 3,840
2.0HIZHRAMRES 100,000& 123 1,200
3.E2EJEH/E™
250,000& *5CH*43 5,000
4.2180|el2 16,000& x2CH* 12 384
SAESIIEH 150,000& *1CH*23] 300
6.C1ASEAL=EX
87,0003 155 A 1,305
7.FUSESEE2LYSEX
26,0002 *302 A 780
8.3 &AAMRAMEETY
16,0002 x23| * 14 &~ 448
9.81SHIIE L= EX
100,000& *1CH+ 122 1,200
10.REgEME 15,000 = 1CH*12& 180
(2g+4) 600
1. 9=8a2 60,0003« 110! 600
(Sl 9,216
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AN SHS
M HYRIZH(SES)
s Jl=dhl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
PP EEEN
8,000 x6A!x 162 * 12 9,216
(dx=) 4,908
-ESIEP -] 30,0002+ 1CH 122 360
2.0t RE 25,0002 +4Ch 122 1,200
3.201BFIIYRE
50,000 »2CH =128 1,200
4. ZZeE)IgX=
179,000 x1CH* 122 2,148
02 s3=gHl 53,070 53,070 0
(SS2SLHA) 47,782
1.98= 8,622
bt 4303 %2002 * 12 1,032
Lt. S 2,530 x25024x 123 7,590
2.80|= 2,800,000& ~12& 33,600
.otz 250,000 * 122 3,000
4 NSHRLRES 400,000 12 400
5. ¥t 288 1,000,000 *2CH 2,000
6.E X NHSIHAI(2TH)
160,0002 %12 160
(A EEHISXIY]) 5,288
1LEMNHZ 2,000,000& 2,000
2. MY LS 100,000 1CH 100
3. 2AIEED] 200,000 *1CH 200
420150l Al AR ST Hat]
33,000 *4LH*4=2 | 528
5. X2 AMA AR S X2 =H]
30,0002 *1CH =12 360
BIRY HEH| 00,0002 1224 1,200
7HHNY 2N 24l
150,000 »20H *32] 900
202 04l 37,200 42,000 24,800
01 SLHoIH 4,800 9,600 /4,800
1.=U0d8I 20,0002 x 102 x4 B 122 x50% 4,800
02 A0 32,400 32,400 0
1.2 NI 225,0003 12~ 122 32,400
203 =4l 9,820 9,820
01 J122geR=a| 5,940 5,940
1.0 2288248
6,600,000 1 %90% 5,940
02 SRIHAA =T 640 640 0
13RS R A 40,0008 162 640
M RFAZSLRFAI 3,240 3,240 0
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Al & 0Ol & AFSE Z Ml A
0238 20lat LEBIH L JIBSESIH 1dS ~ =23
SN 225
B 0l HE HO CR(ILE)
el AHISAHE 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
eSS 1,254,301 1,190,242 64,059
=0l A Ho| E2(=228) 224,476 188,036 36,440
YIS 29 224,476 188,036 36,440
.8y N3 196,560 189,120 37,440
301 EetE NS 196,560 189,120 37,440
o7 8% -0 - H¥Es243 196,560 189,120 37,440
.88+ ¥ 234l 196,560
rol=eE 300,000 x42E « 12 151,200
Lt &012 300, 00021 #4225 25,200
Ch.319 & a4
20,0002 x42EH*23| 122 20,160
FUAXMEEZ =S 15,696 15,696
201 et 3| 15,696 15,696
01 At2t2l] 15,696 15,696
(2er=2Hl) 1,296
1.2 AIME 28
120,000 * 122 +90% 1,29
(2e=¢) 14,400
1LFEXNX A ZA=E 14,400
L RIMWA(2H)
25,0002 =8Al 2t 12 2,400
L 20t0a (2%)
25,0002 +8Al 2t 122 2,400
Ct.=8013 25,0002 +8Al 2t 128 2,400
et HAATX(ES)
25,0002 x8Al 2t 12 2,400
O HAATIX(ZEZ)
25,0002 <8Al 2t 123 2,400
Bt 2ctHIA 25,0003 *BAlI 2t 123 2,400
A= X2t 3,220 3,220 0
201 fer=3| 3,220 3,220
01 AtR2t2|HI 3,220 3,220
1.2l r+2
200,000 * 122 2,400
2EABI IS U=
110,000 * 17 2+23] 220
.AaLANEEEUd =
50,0002 1 A+ 128 600
FUFAHU A SEOHEAS 9,000 10,000 21,000
401 AIEHIZ SR OHYI 9,000 0 9,000
01 Al&HI 9,000 0 9,000
1.A0IE Os% 4X 9,000,000& *14] 9,000
SADIEAIE HEI(ZRS) 5,000 5,000
SAIDIEIAIE EHI 5,000 5,000
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29s

J2: CADIBIAIE BHI(S2S)

SRl ZADIEIAIE FHI (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A== ANES EHl 5,000 5,000

401 Al HIZL 201 5,000 5,000
01 Al&HI 5,000 5,000
1.4525 Ald=S 7Al2c
5,000,000& 14 5,000
HY2HAH(2LS) 1,024,825 997,206 27,619
el 2| 911,299 880,400 30,899
el 24| 911,299 880,400 30,899
101 @124H| 877,339 848,360 28,979
01 &= 877,339 848,360 28,979
(=) 616,157
1.E8M018) 86,978
=% 83,632,000& 1 83,632
BaySE Fal:] 83,632,000 4% 3,346
2. 25 E(169) 529,179
ot.62(2353) 4,113,600 «3H 123 148,090
Lh.72(8&83) 2,623,800 x4H 122 125,943
Ct.8=(853) 2,359,800 6H 122 169,906
ch.o=2(458) 1,802,400 x3E «12& 64,887
OF. XM IH&H] 508,824,000 *4% 20,353
(A0I%E) 56,407
REEEE LT
2,819,500 +4. 1%~ 123 1,388
2.82+4¢ 529,179,000&1/12 44,099
.32+t 10,920
Jh.25800 2 130,000 <2« 12& 3.120
L+.20E 01 &~25 01 2¢
10,0002 *124x 128 1,320
CF. 156 01 &4~20 0] 8t
80,0002 x 18 » 122 960
ct. 10H0[&~154 012t
60,0002 x1& 122 720
Ct.5E01&~10 012t
50,0002 x8 12 4,800
OBIEd=g) 26,400
1.EsE 8,400
N BN, 40,0002 <8~ 122 3,840
L JIERDMS 20,0008 +7&x 122 1,680
Ct. SMAH 60,0003 x4 * 122 2,880
2. F0IFA=g 1,500,000 x1&* 122 18,000
(S+22+8) 24,240
1.5+22+8 24,240
I.s22+E 70,0002 x16E 128 13,440
Lt QAR 50,0002 x4 » 122 2,400
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SN 225
HH: YHSARY(22E)
SERRIEESS(T CERE)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Ch ARSI R
70,0002 7 * 122 5,880
ch AR SX SRS 0tetS
30,00024+7%* 122 2,520
(zH2949) 72,657
1Al R R4
11,1303 %34 Al 2H+16F « 122 72,657
(AHI24 S) 81,478
. &S A 140,00020* 1724 » 102 28,560
2. 2E=IHI 529,179,000& *1.2/12 52,918
204 MR FH| 33,960 32,040 1,920
02 M=a2xH| 33,960 32,040 1,920
1.2 g 22| 33,960
Jt.52 250,000+ 1« 122 3,000
Lt.6= 175,0002x3&* 122 6,300
Ch.7= 165,000& x4~ 123 7,920
ct.8-9= 155,000 x0E 123 16,740
=3l 113,526 116,806 23,280
Jl=2&Hl 113,526 116,806 23,280
201 er2 3| 57,166 56,446 720
01 At2teltl 26,692 26,692 0
(ergHl) 16,300
1.2A2E Sl 300,000 *17H +80% 4,080
0 DRIEEL 200, 0002 4CH*43] 3,200
3.ORIE Sy 150, 0002 *4TH*13] 600
4.0130|el= 30,000 =20~ 128 720
5. 2AESIIEH 180,00024x2CH*33] 1,080
6.1 LBSEMLSEN
85,0003 *158 A 1,275
7.FUSESEz=YsSEXN
26,0003 302 A 780
8.2AIEX 20,0003 »702f A 1,400
0.0lHIZERMNEES 100,000 ~12& 1,200
10.21&J|==2ldl 200,000& *22 400
MItELX(2tHIRIED])
80,000 *42 A 320
2. 871812 30,0003 »3CH =128 1,080
B.2AYs=MZ0IETVAZ)
13,7502« 128 165
(2g9+¢) 600
1.e=Xg 60,0002 x 1 »10 600
(S&Hl) 9,792
112828 S254]
8,000& +6Ax17H 128 9,792
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B HE2AAY|(22E)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 30,474 29,7%4 720
(SS2SLHA) 23,476
.28z 10,65
Jh.get 4302 +3002 * 128 1,548
Lt. S 2,5303 %3002~ 12& 9,108
2.801g 650,000& 122 7,800
3.aotreEes 200,000 62 1,200
4.0lBl=2s0 &g 100,000& * 122 1,200
5.0lbl=ZsU &ot==R=
50,0003 +6E 300
6.SHINLIEES 900,000 <2CH 1,800
7. eI MERES
70,0002 *23] 140
8. SN SE N2
50,0002 *22] 100
9. SIS S IHA 90,0002 =2CH 180
10.SHI0ISASAHEE =
100,0002 %12 100
(NEZHIRXIHI) 6,998
LEANA=SFAE s8I 900,000& 900
EAESD) 100,000 «2CH 200
SHINEFEU
150,000 x1CH* 12 1,800
4. SIS =2/
150,000 *2CH*32] 900
L2=J| = A 50,0002 «3CH 150
A LSEHIRXAE 100,000 «1CH 100
SHHENSHRFUH
15,0003~ 104123 180
8. ZIEIA AR F X2 ==H|
33,0002 4 LH*43] 528
9. X2 AMAABSS X 2=
30,000~ 1CH* 122 360
10.s2)13)183 R A2l
90,0002 * 12 1,080
.00 E S =l 100,000 *2CH 200
2. INNSHEIANERS
50,000~ 1CH* 122 600
202 04| 39,900 44,700 24,800
01 =LHAHI 4,800 9,600 4,800
1.=U0d8I 20,0002 x 102 x4 B 122 +50% 4,800
02 A0 35,100 35,100 0
1.2 NI 225,000« 13« 123 35,100
203 =4l 9,860 9,860
01 D22 HARFA| 5,940 5,940
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